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Question Number : 1 Question Id : 9277597701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

EPMZ, YJGT, SDAN, MXVH, GROB
Options :

1. ®* YJGT

2. % SDAN

3. ¥ MXVH

4. % GROB



Question Number : 1 Question Id : 9277597701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad S1aR-THg Y&l H TTeld U JTd Hifeie:

EPMZ, YJGT, SDAN, MXVH, GROB
Options :

1. = YJGT

2. * SDAN

3. ¥ MXVH

4. * GROB

Question Number : 2 Question Id : 9277597702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter-cluster series given below:

CI12R, J20Y, 7, X36M, E44T
Options :

1. % P28F

2. % Q28G

3. % P28E

4. ¥ Q28F

Question Number : 2 Question Id : 9277597702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad s1eR-THg SRael ¥ I Ug JTd SIfoid:

C12R, J20Y, 7, X36M, E44T
Options :

1. ® P28F

2. % Q28G




3. % P2SE
4. v Q28F

Question Number : 3 Question Id : 9277597703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter triad from the given options which follows the same relation as shown below.

(SVW, XAB, CFQG)
Options :

1. ¥ EQM, HLO, MEQ
2. % YRQ, DWU, ICA
3. % IYQ, MPL, SQX
4. ¥ ORS, TWX, YBC

Question Number : 3 Question Id : 9277597703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U fasmed 7 ¥ I faded o7 Tg &% Sl U & UM et T IR0 3l g |

(SVW, XAB, CFQG)
Options :

1. % EQM, HLO, MEQ
2. % YRQ, DWU, ICA
3. % 1YQ, MPL, SQX
4. ¥ ORS, TWX, YBC

Question Number : 4 Question Id : 9277597704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word pair from the given alternatives.

Mississippi : USA : : ?



Options :

1. ¥ Volga : Russia
2. % Amazon : USA
3. % Congo : brazil

4. # Niger : China

Question Number : 4 Question Id : 9277597704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau TTC fdemedl O 9§ Hafdd Wsq I &1 98- B |
Rt : smfRker: 0

Options :

1. ¢ 91T . =

2. % 3fHv : ARDT
3. % SN : Sod
4.53:”351?:5‘1:[

Question Number : 5 Question Id : 9277597705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If PERSONAL is written as QDTQRKEH in certain code, how is BOARDING written in that code?
Options :

1. % CNCQFFSC

2. % CMCQGFRC

3. ¥ CNCPGFRC

4. % CNPPJFRC

Question Number : 5 Question Id : 9277597705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

¢ T ff3d %e H PERSONAL & QDTQRKEH foRaT SITdT &, 7§ BOARDING &1 & T feral S
Options :

1. # CNCQFFSC

2. # CMCQGFRC

3. ¥ CNCPGFRC

4. % CNPPJFRC

Question Number : 6 Question Id : 9277597706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are five bags kept in a shelf having different weights. Bag P is the heaviest whereas bag T is the lightest. Bag Q is heavier than bag S and
R. Bag R is heavier than only one bag.
Which of the following statements is correct?

Options :

1. ¥ Number of bags heavier than S is equal to number of bags lighter than S.
2. % Two bags are heavier than bag R.

3. # Bag Q is heavier than four bags

4. ® Bag S is heavier than three bags

Question Number : 6 Question Id : 9277597706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Aeth T SET-SET YR aTa Ui o 3 7Y § | 977 P Jad HIRT § STaifch o T HaY bl o | ST Q, ST S 3R R &1 ga-T H HRI g1 TR
$ad U ST B! gorT § U B | Fefifd sy # 3 e T 9l 82

Options :

1. ¢ S P qaT H YR ST &1 AT S BT g1 H Geb 971 1 T b aRI6R &

2. % YITRIHUR G

3. % QIR I HRI §

4. % FUSTTITI U

Question Number : 7 Question Id : 9277597707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In a row at a bus stop, ‘A’ is 7th from the left and ‘B’ is 9th from the right. They both interchange their positions. Now A becomes 11th from the
left. How many people are there in the row?

Options :
1. ® 10
2. %20
3.4 19
4. % 18

Question Number : 7 Question Id : 9277597707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y WIT IR TH UG H,'A' 913 3R 791 8 3R 'B' ST T 97 WIF W g1 ST 3T RIT P ST deail R ¢ 1376 A 918 R Y 1137 8
ST & | dfaa & fora= =afaa g2

Options :

1. * 10

2. % 20

3.419

4. % 18

Question Number : 8 Question Id : 9277597708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
Some houses are office.
Some office are not shop.

Conclusions:
(I) Some shops are office.
(IT) Atleast some house are shop.



Options :

1. % If only I conclusion follow

2. % If only II conclusion follows

3. % If both I and II conclusions follow

4. ¥ If neither I nor II conclusions follows

Question Number : 8 Question Id : 9277597708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad gy & @ Hy= e 7w 8 e a1e & fAne 1 9 11 fRT U § 3iueh! 39 Y=l &) I H=H1 8, Ha 81 9 Jagnd awt 9 fie udia
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Options :

1. # $Had [5HY [ 3IERU Hdl §

2. % Had fHY 11 TR0 BT &

3. % G fISHY [ T 11 SFJIR0T 6’ §

4. AT By 17 8 e 11 SFR0 HRaT 8

Question Number : 9 Question Id : 9277597709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
All photos are notebook.
Some notebooks are bottles.



All bottles are boxes.

Conclusions:
(I) Some notebook are boxes.
(IT) Some photos are bottles.

Options :

1. ¥ If only I conclusion follow

2. % If only II conclusion follows

3. # If both I and II conclusions follow

4. % Tfneither I nor II conclusions follows

Question Number : 9 Question Id : 9277597709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead vy & @9 By fau U 8 oM 918 &1 Fshe 19 11 fAT U B SHTUsh! 39 HU1 &1 9 HIFAT 5, Hal 81 d Fasd audl 3 e edld
gid 81| fau U Frm el & 9 31 91 e U 70 o &7 difdhs ©0 § S8R0 $Ral 5 |
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(D) gpé e S B
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Options :

1. ¥ Had FhY | 3FIER0T el §

2. % I DY [1 TRV BT §

3. % G FShY [ T 11 SFJAR0T Rl &

4. % 9 FHY 17 81 Fpy 11 3SR R 8

Question Number : 10 Question Id : 9277597710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three statements are followed by three conclusions numbered I, II and III. You have to consider these statements to be true, even if they seem to
be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

Few coffee is tea.
Some tea are juice
All juice are glasses.

Conclusions:

(I) Some tea are glasses.

(IT) Some juices are glasses.
(III) Some glasses are coffee.

Options :

1. % If only I conclusion follow

2. % If only II conclusion follows

3. ¥ only I and II conclusions follow

4. % TIf only III conclusions follows

Question Number : 10 Question Id : 9277597710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad gy & a5y e 7w 8 e a1 9 fAsw 1, 19 111 fAT U § 31U 399 Syl 1 I AT 8, Hd 81 3 a3 aa 3 i
g gia 8 | fu e fsesf & 9 1 a1 fAsesd 3T 7T 4= &1 difdhes 0 § ORI Rl g |
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3 AA I G|
Tt 7 e g |

T

(1) S 19 A g |
(I $ 39 A |
(111) & M HIH! g |
Options :

1. % acl Feepy | 3THR BT 2




2. % Had (DY I1 SR Hal §
3. ¢ Had G IS 1 qUT 11 38R0 B &
4. % Had FHY 11 TRV HRT §

Question Number : 11 Question Id : 9277597711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the next term in the series.

10, 15, 25, 35, 55, 7
Options :

1. ¥ 65

2. %59

3. % 55

4, % 81

Question Number : 11 Question Id : 9277597711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3G DT ST UG T DY |

10, 15, 25, 35, 55, ?
Options :

1. ¥ 65

2. % 59

3. % 55

4, % 81

Question Number : 12 Question Id : 9277597712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given statements are followed by two conclusions. Mark the appropriate answer.



Statement:
B<A,B>C,D>C,E<D

Conclusions:
. A>C
II.B<D

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follow

4. % Neither conclusion I nor II follows

Question Number : 12 Question Id : 9277597712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HYAl & 916 al FT=pY AT 7T B 1 SugH IR B fafed B

hY:
B<A,B>C,D>C,E<D

frp:
LA>C
II.B<D

Options :

1. ¢ Had FHY | 3FIER0I Rl §
2. % Had BN 11 IR0 Hal §
3. % G FpY | 3R 11 38R0l HRell §
4, % 1l fepd | 711 SERU HRAT ]

Question Number : 13 Question Id : 9277597713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged to make the following equation correct?



24+12-6%x6+2=18
Options :

1. % +and +

2. % +and x

3. % +and -

4, % xand +

Question Number : 13 Question Id : 9277597713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad gHiesRu 1 Bl B & fort fobeT &) gl b 310 | srerett ST =1

24+12-6%x6+2=18
Options :
1_~:/+3ﬁ?+

2. % + 3R x

3.% + 3R -

4. % x 3R+

Question Number : 14 Question Id : 9277597714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents air hostess, circle represents dancing, pentagon represents singing, rectangle represents painting and
square represents cooking.

What does letter ‘M and I’ represents?



Options :

1. # Airhostess who are good in cooking, singing and dancing but not in painting
2. # Airhostess who are good in cooking, painting and dancing not in singing

3. ¥ Airhostess who are good in cooking, singing and painting but not in dancing

4. % Airhostess who are good in dancing, singing and painting but not in cooking

Question Number : 14 Question Id : 9277597714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad sma o, Ays TR gy &1 Ufaffia a1 8, 39 T &1 Ui oral 8, G 01 T &1 Ufaffeid &l §, Smad ol
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Options :



1. % TIREIRCY Sff WHT UM, TTH 3R T B H 3731 § i ot 57 § 18
2. % WRERSY S @HT UM, I 99 3R T & 3131 §, T H 781 |

3. ¢ TIREIRSY ST WHT G, T 3R i o7 7 ot § Aifdt o o =1l

4. % TIRERY S I, TH 3R o a9 3t § QT @1 uep o 78

Question Number : 15 Question Id : 9277597715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents boys, circle represents interior designer, hexagon represents girls, rectangle represents studying hotel
management and square represents wedding planner.

What does letter ‘C’ represent?

M \N 0

=]
Y
(=]
-

A

=]
o

Options :

1. #® Boys who are studying hotel management and also work as interior designer
2. ¥ Boys who are studying hotel management and also work as wedding planner
3. # Girls who are studying hotel management and also work as wedding planner

4. ® Girls who are studying hotel management and also work as interior designer

Question Number : 15 Question Id : 9277597715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiied sma &, Ry aged &1 Ul oRdl &, 30 SRR fSome-R &1 Ul HRd1 8, Sey asfdal &l ufafAfia &l
2, 31d glcd AaviHc Ugrs o1 ufaffiica &dr g 3R 97 af$T @R &1 ufafRfia s g |




=]

A

Options :

|. % TSP Ol glcd AAoHc Bl UGS R B 8 SR SN fEumR s Tud i em Hid &

2. ¢ TS& Sl gled HASHc P UgTs B Tg & 3R AfST @R & =0 § Ht 1 Hd &

3. % ASHUl Sl gled HAoHe B UgTs B el o 3R afST @R & dR W i B i &

4. % TS(HTT O gled HATHE DI UgTs PR I8! o 3R SN fEomsR & =0 § t & FHdt &

Question Number : 16 Question Id : 9277597716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.

< <|W s 2

> 2 A\ ?_%; Nl
S|y X |, -
— 1 = NAEES N

Options :



\V//\//A

A\ N

S 2
<=S
> £
S 2>

3. %

S 2
<2<
> <

4, %

Question Number : 16 Question Id : 9277597716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ST DT g9 DX Sl FEfeiRad spfa g § Uy fag (7) ol ufai1iud s |
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Options :

2.¥



o
A\

Question Number : 17 Question Id : 9277597717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one in which the question figure is hidden/embedded.

Options :




2.¥

Question Number : 17 Question Id : 9277597717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e oot § Q, 39 3pfa o1 7a B3 forgw u ey srafvifed / fydt 82



Options :

2. ¢




Question Number : 18 Question Id : 9277597718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given alternatives select the one which is the mirror image of given Question Figure .

M

22 ||
ARAAIS
Ny
N""'\-\.

Options :




3.¢

Question Number : 18 Question Id : 9277597718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U fawmedl @, I SM1epfa &1 7= B N fou U uy 3iepfa o1 gdur ufafes 31

M

@;blaiﬂgi
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W



Options :

>, <
AYV

Question Number : 19 Question Id : 9277597719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of circle in the given figure.



Options :
1. ¥ 8
2.%9
3. % 7
4. % 10

Question Number : 19 Question Id : 9277597719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A S M1l B g ) Se 1 IR

Options :
1.¥ 8
2.%9
3. % 7
4. % 10



Question Number : 20 Question Id : 9277597720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one that will complete the question figure.

==J

Options :

3. ¢




Question Number : 20 Question Id : 9277597720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7 fadedl & T I fdebed &1 AT SN UY 3l &l g1 DR |

==J

Options :




/_J
2. %
3.¢

I
4, %

General Awareness

Group Number : 2
Group Id : 927759282
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awareness

Section Id : 927759308
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759365
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277597721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following are wind instrument?
Options :

1. # Avanaddha Vadya

2. # Tat Vadya

3. % Ghan Vadya

4. ¢ Sushir Vadya

Question Number : 21 Question Id : 9277597721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafafed & 9 oI arg ¥4 82
Options :

1. # 3ddx dl<]

2. #® dddle

3. ® Y4 dle

4. YRR A1



Question Number : 22 Question Id : 9277597722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sagara Sambaralu is a music festival held in which of the following states?
Options :

1. ¥ Andhra Pradesh

2. % Orissa

3. # Gujarat

4. ¥ Arunachal Pradesh

Question Number : 22 Question Id : 9277597722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URR HaRTg FafaRad o 9 ford o 1§ Smford Te il 9aRig 82
Options :

1. ¥ Y TSR

2. % IS

3. % ToRId

4. % BT UG

Question Number : 23 Question Id : 9277597723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The food procured by the Food Corporation of India is distributed through government regulated ration shops among the poorer section of the
society. This system is known as-

Options :

1. # Food Distribution System
2. # Food Security System

3. % Minimum Support Price

4. ¥ Public Distribution System



Question Number : 23 Question Id : 9277597723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATG W1 T GRT WRIaT 1 Ui FHT & TRIG aFf & Sid IRBRT [A-aiid =M & g & J1ed ¥ faaid fear g | a8
JuITelt 1 fohd =0 & S i1t 82

Options :

1. % Qe fdaRur gorret

2. % WTE YREM Yuralt

3. % EqH 99 g

4. ¢ A faaRor guna

Question Number : 24 Question Id : 9277597724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under the Union Budget, 2021, the Government has proposed Liquid Waste management in how many AMRUT Cities?
Options :

1. % 200

2. % 250

3. % 400

4. % 500

Question Number : 24 Question Id : 9277597724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEg ToIe, 2021 F T80 WBR A fha 3Md WeR) H RA Fav1 yaeq ([P s e Aaciwic) &1 U fear g2
Options :

1. % 200

2. % 250

3. % 400

4.+ 500

Question Number : 25 Question Id : 9277597725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human Development Report compares countries based on certain indicators. Which of the following is not one of such indicators?
Options :

1. # Per Capita Income

2. % Educational Level

3. # Health Status

4. ¥ Infant Mortality

Question Number : 25 Question Id : 9277597725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H17d faepTa RO o bde! & SMYR TR S &1 o el g | Faffad & @ 1 T Ydbde! § 4 us T8 82
Options :

1. % i oFfe 3

2. % QD WR

3. % ey fRfd

4. RYAIR

Question Number : 26 Question Id : 9277597726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the atomic number of Phosphorous?
Options :

1. ¥ 15

2. %20

3. % 16

4. % 18

Question Number : 26 Question Id : 9277597726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A

T URHTY] hHidh T 82
Options :
1.4 15
2. % 20
3. % 16
4. % 18

Question Number : 27 Question Id : 9277597727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A lightning conductor is made of which of the following?
Options :

1. ¥ Metal

2. % Non-Metal

3. ® Metalloid

4. % Gas

Question Number : 27 Question Id : 9277597727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH dfsd I1a® (Age 1 Heaex) Fufeiad & § fegs s garg?
Options :

1. ¥ 41d

2. % R Y

3. % Ocdize

4. % g

Question Number : 28 Question Id : 9277597728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As of December 2020, which of the following is the wettest place on Earth?



Options :

1. ¥ Mawsynram, India

2. % Cropp River, New Zealand
3. # Tutunendo, Colombia

4. # Debundscha, Cameroon

Question Number : 28 Question Id : 9277597728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fERIaR 2020 TF IUAS AHHR & AR, ARG F ¥ g IR o 31 ST R S 91 82
Options :

1. ¢ MRRM, URd

2. % PIY A, Folldis
3. % TS, prafra
4. % IS, FHEA

Question Number : 29 Question Id : 9277597729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sardar Sarovar Dam has been built over which of the following rivers?
Options :

1. ¥ Narmada River

2. # Tapti River

3. ¥ Satluj River

4. % Yamuna River

Question Number : 29 Question Id : 9277597729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WeR WIR §1y FafaRed 7 J feg 98 R s mn g2

Options :



1. ¢ T e
2. % Xl At
3. % gagel Ad!
4. % AT

Question Number : 30 Question Id : 9277597730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which poet composed a biography of the Buddha, the Buddha Charita?
Options :

1. ¥ Ashvaghosha

2. # Kanishka

3. % Muvender

4, % Bodhisattva

Question Number : 30 Question Id : 9277597730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 @1 Sftail, ermd & Te 1 fbd &fa A bt oty
Options :

1. ¢ 3yEy

2. % HASD

3. % A

4. % QUTQ

Question Number : 31 Question Id : 9277597731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Battle of Khanwa was fought between Babur and whom among the following?
Options :

1. # Ibrahim Lodhi



2. % Sher Shah Suri
3. % Rana Sanga
4. ¥ Maharana Pratap

Question Number : 31 Question Id : 9277597731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TaT BT g5 916R 3iR fohads st a1 T
Options :

1. % SoTfeH wedt

2. % IR G

3. ¢ MM AT

4. % HgRTUIT Ydy

Question Number : 32 Question Id : 9277597732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Shah Jahan ruled India during-

Options :

1. % 1530 - 1556

2. % 1556 — 1605

3. % 1605 - 1626

4. % 1627 - 1658

Question Number : 32 Question Id : 9277597732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QIIE;\ﬂEiTef YR IR A o -
Options :

1. % 1530-1556 H

2. % 1556-1605 |




3. % 1605-1626 T
4. ¥ 1627-1658 H

Question Number : 33 Question Id : 9277597733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

May 2021, Guillermo Lasso has become the President of which of the following countries?
Options :

1. % Cuba

2. % Ecuador

3. # Georgia

4. # [taly

Question Number : 33 Question Id : 9277597733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 2021 2 frersl ) Frafeirdd & @ fra 2w & puf 9
Options :

1. = HdIl

2. ¥ SHISR

3. % Gitord

4, % geol

Question Number : 34 Question Id : 9277597734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states was ranked as the top performing state under India Smart Cities Award Contest 20207
Options :

1. # Kerala

2. # Mabharashta

3. % Bihar



4. « Uttar Pradesh

Question Number : 34 Question Id : 9277597734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrofaRad o 9 food Y &1 SiEar we Ridist srars ufaiifiiar 2020 & dgd 2NN UG - arel Isd & U 8 RIF faan T g2
Options :

1. % D

2. % HeRIY

3. % fogR

4, ¢ IR Y

Question Number : 35 Question Id : 9277597735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following state government announced Rs. 4 crores to Olympic silver medal winner Ravi Kumar Dahiya?
Options :

1. # Odisha

2. # Jharkhand

3. * Punjab

4. ¥ Haryana

Question Number : 35 Question Id : 9277597735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed o 9 fra Ioa IReR A 3MidfUe IoTd U faoidl I AR Gedl P 4 RIS SUY G- &1 GIuT 12
Options :

1. % 3nfeam

2. % PRES

3. % 9§

4. « g



Question Number : 36 Question Id : 9277597736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In collaboration with which of the following companies, CBSE has introduced coding as a subject for students?
Options :

1. # Google

2. ¥ Microsoft

3. % TCS

4. ¥ Infosys

Question Number : 36 Question Id : 9277597736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & € fbg Sl & Jgai 4, W A 96l & o 0 fawy & w0 3 SIS &1 goeid &1 82
Options :

1. % T

2. ¢ HISHEIT

3. % STy

4. % TR

Question Number : 37 Question Id : 9277597737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which article of the Constitution of India does the Governor of a State have the Power to grant Pardon?
Options :

1. % Article 72

2. % Article 75

3. ¥ Article 161

4. ® Article 165

Question Number : 37 Question Id : 9277597737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YR & AU & 5y srfwde & ded fhl s & IsTUTd B &HTGH o &1 AHABR 82
Options :

1. % 3G 72

2. % WG 75

3. ¥ 3fT=9G 161

4. % 3TEG 165

Question Number : 38 Question Id : 9277597738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Election Commission of India is a Constitutional Body under which of the following articles of the Constitution of India?
Options :

1. % Article 365

2. % Article 370

3. % Article 324

4. % Article 360

Question Number : 38 Question Id : 9277597738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR BT TG START HRA & Afq4T & FEfeiad § 9 frd sifede & dgd Ue HauT-e Fea g2
Options :

1. % 3G 365

2. % 3G 370

3. ¥ TG 324

4. % 3{Jw5G 360

Question Number : 39 Question Id : 9277597739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Indian National Congress session of 1931 was held in which of the following cities?
Options :

1. # Lahore

2. ¥ Karachi

3. # Lucknow

4. ¥ Mumbai

Question Number : 39 Question Id : 9277597739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1931 T HR AP H1UE BT e FafeRad 7 9 foog wex & siaford foarn mar ur?
Options :

1. % AR

2.« B

3. # Y91SH

4. % 493

Question Number : 40 Question Id : 9277597740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where was the [Xth Asian Games held?
Options :

1. # Hyderabad

2. # Chennai

3. ® Calcutta

4. ¥ New Delhi

Question Number : 40 Question Id : 9277597740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1Xd TRATS I el miford feu e Q2



Options :
1. % BRIETS
2. % U7
3. ® dcihdl
4. ¢ 3 Tl

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Arithmetic Ability

3
927759283
0

0

No

No

0

20

No

Arithmetic Ability

927759309
1

Online
Mandatory
20

20

20

Yes

1
927759366
Yes



Question Number : 41 Question Id : 9277597741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifx=b+c—2a,y=c+a—2b,z=a+b—20,thenwhatisthevalue0fx2+y2—zz+2xy‘?
Options :

1.¥0

2. % at+b+c

3.% a-b+c

4. % a+b-c¢

Question Number : 41 Question Id : 9277597741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Z|ﬁx=b+c—2a,y=c+a—2b,z=a+b—20%,?‘hx2+y2—22+2xymrl'|:fa:<’3ﬂ%?
Options :

1.9 0

2. % at+b+c

3.% a-b+c

4. % a+b-c

Question Number : 42 Question Id : 9277597742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

oo | Lh
|
i | L

2

e | L | pa
I
p |

1

Options :
1

1.¢ 5



Question Number : 42 Question Id : 9277597742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad oy & us g (2) & TIM TR 1 3T =W

oo | Ln
=
[ %]

I

= | LI

,_.
Il
3

Options :
1

1.¢ 5



Question Number : 43 Question Id : 9277597743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: . | —
Find the square root 0fn=1fn=,,ql 19x 2 4+ 1;'12 ¥ 50 + 63 + 324 — 155

Options :

v 2V2
Y
3. % 42

4 % 6V2

Question Number : 43 Question Id : 9277597743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[
| ! 3
Afn=19x 2 + v12 x 50 + 63 + V324 — 155 B, TN n FT T HA AT |

Options :

1w 2V2
% 32
e



o 6V

Question Number : 44 Question Id : 9277597744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

48 % 4 + 38 -
12 7.5 £ 25 %08

Options :
1. % 25

2.%25
3. % 0.25
4. % 250

Question Number : 44 Question Id : 9277597744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAoferfad oy o us forg (2) & R R 1 3T Mg

48 x4 + 38 —n
12X 75+25%X08

Options :
1. % 25

2.%25
3. % 0.25
4. % 250

Question Number : 45 Question Id : 9277597745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
There are total 26 students in a class. Piyush was assigned a task to calculate the average marks of first 25 students according to their roll

numbers, but by mistake he calculated the average marks of all 26 students due to which the average marks increased by 1. If the 26" student got
90 marks then find the average marks of the first 25 students.

Options :

1. #¥ 66 marks
2. ¥ 64 marks
3. ¥ 62 marks
4. ® 65 marks

Question Number : 45 Question Id : 9277597745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH B 8 $d 26 [aadf €1 Tigy &1 s Hie & SR Ugd 25 BHI & 3INd 3 & TUMT B BT HII 1T 7T AT A e o S
%6W$aﬁw&ﬁaﬁmwﬁﬁlﬂ$weﬁm% | 9§ §¢ 71 Tl 269 B BT 90 3fch U idl @ ol Ugd 25 BT BT
EIREIIEIY

Options :

1. % 66 3Ph
2. ¥ 64 3D
3. % 62 3P
4. % 65 3Pp

Question Number : 46 Question Id : 9277597746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a sports club, every person plays either polo or Table Tennis or both. 74 percent person plays Polo and 44 percent plays table tennis. If there
are 252 persons who plays polo and table tennis both, find total number of person in the club.

Options :
1. % 1200
2. % 1400
3. % 1500
4. % 2100



Question Number : 46 Question Id : 9277597746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH WIEY a0 B, Tdd Afad Ulel 91 ead e+ a1 giF1 Wadl g | 74 Ufa<id safad diel Wad g 3R 44 Ufawrd aafad <od g @ad ]
e Uit SiR 29d S 31 Qe AT safaal Y T 252 2, Y aeTe B el &) e e I I

Options :
1. % 1200
2. % 1400
3. % 1500
4. % 2100

Question Number : 47 Question Id : 9277597747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A speaks truth in 60 percent cases and B speaks truth in 80 percent cases. The probability that they will say the same thing while describing a
single event is:

Options :
1. % 0.36
2.9 0.56
3. % 048
4. % 0.20

Question Number : 47 Question Id : 9277597747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, 6%maaﬂ&hﬁﬁaﬁw%aﬁw 80 f=Td g1l H 9 Siadl & | Wit I1d Pl f d T g1 g1 &1 9ui- &id gu U o
qTd B

Options :
1. * 0.36
2.9 0.56
3. % 048




4. % 0.20

Question Number : 48 Question Id : 9277597748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the greatest among all?
Options :

1. #® 12 percent discount on marked price Rs. 240
2. % 10 percent discount on marked price Rs. 320
3. # 8 percent discount on marked price Rs. 400
4. ¥ 7 percent discount on marked price Rs. 500

Question Number : 48 Question Id : 9277597748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafea § 4 oF o ged 8182

Options :

1. % 3ifhd e 240 TUA WR 12 Ufd=Id &1 e
2. % 3ffohd T 320 $UY TR 10 UfA=Id 1 g
3. % 3iford T 400 ¥UY WR 8 Ul Bl Be
4. ¢ 3ifdbd Ged 500 TUY TR 7 UfdI=Id 1 g

Question Number : 49 Question Id : 9277597749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dishonest shopkeeper professes to sell goods at 10 percent profit and also uses a false weight of 950 gms, for each kilogram. Find his gain
percentage.

Options :

- 155 percent



i5
155 percent
132 t
., percen

r 13% percent

Question Number : 49 Question Id : 9277597749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JHH gHMER IXI3N BT 10 YT ATH TR Sa- &1 G1a1 HRdl § 3R D fHU1 % T 950 UTH & Tad S1C 61 TN BT § | SHPI
NECIGRGRIGER]

Options :
152 gfererd

1. =

15—‘;ri%ml?-r
o

2. %

Question Number : 50 Question Id : 9277597750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ratio of ages of A and B is 6 : 5. What can be the ratio of ages of A & B, 15 years from now?



Options :
1.%5:4
2.%6:5
3.97:6
4. % 7:5

Question Number : 50 Question Id : 9277597750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B B ST BT SUT6: 551 AT 15 TY TG A 3R B B 3T BT U o1 81 Thel 6 2
Options :

1.*5:4
2.%6:5
3.7 :6
4. % 7:5

Question Number : 51 Question Id : 9277597751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person has some coins of Rs.10, Rs.5 and Rs.2. The ratio of the products of the number of coins of Rs.10 and Rs.5, Rs.5 and Rs.2, Rs.2 and
Rs.101s 3 : 4 : 2 respectively. What could be the minimum amount he has?

Options :

1. ® Rs.74
2. ¥ Rs.68
3. % Rs.52
4. % Rs.88

Question Number : 51 Question Id : 9277597751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP fdd & UM 10 FUT, 5 T0Y 3R 2 I8 & $ AP g1 10 TUY 3R 5 TUY, 5 TUY 3R 2 TUY, 2 TYY 3R 10 T & g B Wa
& Ul T AT 3 : 4 : 2 § 1 SHD T AqH 1T T BT Ghel! 82




Options :

1. % 74309
2. ¥ 68 3T
3. % 5230
4. % 8830

Question Number : 52 Question Id : 9277597752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs.1920 is lent partly at 5 percent and partly at 8 percent compound interest per annum. If Rs.186 is earned at the end of one year as
interest then ratio of the amount put on at 5 percent rate and 8 percent rate is:

Options :
l.#%5:8
2. % 8:5
3.00:.7
4. % 16:15

Question Number : 52 Question Id : 9277597752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1920 T P AR & & HRT B 5 TR 3R A YFT DI 8 YA & Tehdfg SIS & R YR faar mar| afe 1 3 & a1 186 =0 BT
TSl UTed Il 8, af 5 Ue=Td 3R 8 Ufa=rd 1 & A f 715 IR &7 A 3UTd ©:

Options :

1. % 5:8

2. % 8:5

3.99.7

4. % 16: 15

Question Number : 53 Question Id : 9277597753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two aircrafts are moving towards each other at different speeds of 60 m/s and 75 m/s. If the distance between the aircrafts is 54 km, then find out



the time taken by the aircrafts to cross each other, assuming the length of the aircrafts is negligible.
Options :

1. % 5 minutes 36 seconds

2. % 6 minutes 24 seconds

3. % 5 minutes 30 seconds

4. ¥ 6 minutes 40 seconds

Question Number : 53 Question Id : 9277597753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I gaTs STgTol Ueb GuR 1 3R firat et it 60 A iR 75 Hi/A U IS 33 & | Tfe gaTs SeTel & ala 1 gl 54 fbell ¢ Gl gaTs STl
®! TP IR DI IR A H =1 TG TR 2( I8 HH Ao f gaTs SIeTsl &t avdls 910 )

Options :

1. % 5f0c 36 9bhe

2. % 6l 24 Wb s

3. % 50T 30 Qb e

4. ¢ 6T 40 9P

Question Number : 54 Question Id : 9277597754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat takes E of time in moving a certain distance downstream than upstream.

=

The ratio of the speed of boat in still water to the speed of the current is:

Options :
1. % 5:2
2.9 4:1
3.%3:2
4. % 3:4

Question Number : 54 Question Id : 9277597754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ueh 19 I Teh =1 170 Gl o el & Tolv RT & Yicehel I qofell # ORI & 3feishel
ATHT et 2 > T OV & | ATcistel 3 ATa &1 a1fey 1 IRT B AT I Seere avam §2

Options :
1. % 5:
2.9 4.
3.% 3.
4, % 3

B0 = DN

Question Number : 55 Question Id : 9277597755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A takes 40 percent more time than B to finish a work. Together they can complete the work in 10 days. If B starts the work & leaves after 5 days,
in how many days A would finish the remaining work ?

Options :
1. % 13
2. % 15
3.¢¥ 17
4, % 19

Question Number : 55 Question Id : 9277597755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Tt wrd St A, B ®1 a1 H 40 UfA=Id 31fd IHg AT g1 S Uhany 10 o # SR Q-1 R Uhd ¢ | 1S B HTY Y& Hal &
3R 5 f&T & a1 B BIS a1 g, dl A AW B fbe a1 & g v

Options :

1. % 13

2. % 15

3.¢¥17




4. % 19

Question Number : 56 Question Id : 9277597756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man is 60 percent more efficient than a woman and a boy is 75 percent as efficient as a man. If 4 boys and 9 women can complete a work in 8
days by working together, then in how many days (approx) 3 men can do the same work by working together?

Options :

1. # 23 days
2. % 22 days
3. % 26 days
4. % 29 days

Question Number : 56 Question Id : 9277597756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YTV, T HiSel Bl g1 H 60 U 3 HT Ha & 3R U TSPT, Th GOV B gaT H 75 Uia<id H1 $a 81 S 4 TS 3R
9 Hl%%lq' TS 1Y BTH B U BT &1 § fal T TR R Tebd &, ol U 1Y HTH B §U 3 Yo 3T H1H Bl fbd fet (@) B R
qhd 82

Options :

1. % 23faq
2. % 2 feq
3. ¢ 26 faA
4. % 29f&q

Question Number : 57 Question Id : 9277597757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of the largest square inscribed inside the circle is 1764 cm?. Find the area of the circle.
Options :

1. % 2548 cm?

2. % 2636 cm?



3. % 2772 cm?
4. ® 2572 cm?

Question Number : 57 Question Id : 9277597757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I & 3feR o 99 31 T &1 8B 1764 TH 2§ | I BT &6 1d Bl |
Options :

1. % 2548 G2

2. % 2636 THI2

3. ¥ 2772 A2

4. % 2572 G2

Question Number : 58 Question Id : 9277597758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length, breadth and height of a gift pack are 12 cm 10 cm, and 8 cm respectively. A shopkeeper wrapped it with 2 cm wide color strip. What
is the length of the color strip needed to wrap it?

Options :

1. ¥ 296 cm
2. % 324 cm
3. % 276 cm
4. % 224 cm

Question Number : 58 Question Id : 9277597758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fge U &) dals, dIsTs 3R $ams SR 12 4T, 10 94T 3R 8 It 81 U ghMeR A 34 2 941 Jie! Ug! ¥ auer| 39 dued & fag
TIRTD US! &1 Qg farat a1 2

Options :

1. ¢ 296 U



2. % 32490
3. % 276 QA
4. % 204 WY

Question Number : 59 Question Id : 9277597759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the percentage of the population of the six cities who were found COVID patients.

City Percentage of population Ratio of Male to Female

who were COVID patients Among COVID patients
Fampur 45 3:2
Sitapur 21 P |
Durgapur 60 37
Shavmpur 50 T:3
Haripur 35 6:5
Devpur 25 4:1

If in city Haripur, the number of male COVID patients was 8436 and in city Sitapur, the number of female COVID patients was 30 percent less
than the number of female COVID patients in Haripur, then what was the number of COVID patients in Sitapur?

Options :

1. % 16872
2. % 13536
3. ¥ 14763
4. % 19683

Question Number : 59 Question Id : 9277597759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g dTfeTeT 371 B8 BRI P SRS T Ufa=Id SXid! § S hifds I7H UTe T8 |




AR SHREmSEI IR A FEE | Fifas AFRT F gout

M g &1 Afger3 ¥ 3qurd
AR 45 E Tt
HiaTT 21 2+ 1
e;:ﬁ‘q;{ 60 5
SATHAYY 50 7:3
R 55 6-5
Zam 25 4:1

g e R o, T30 Hifas AT 1 e 8436 At 3R TR AR H, Afea pifds A &t e gRyR & afgar sifas Al o
TR 4 30 Ufa=rd w4 &, @t HiarR d Pifae A ot e fabat &t

Options :

1. % 16872

2. % 13536

3. 14763

4. % 19683

Question Number : 60 Question Id : 9277597760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following line graph gives the total patients in five hospitals P, Q, R, S & T and the number heart patients in each of the five hospitals.
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In which hospital is the number of heart patient as a percentage of the total patient, the highest?
Options :

1.% T

2.%Q

3.% P

4.¥ S

Question Number : 60 Question Id : 9277597760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiRaa @rg U1 Uie SRUdTal P, Q, R, S SR T H oa AT 3R geg ANl o1 Tem &1 faur aar |




2500

. =
e
T \/m

500

240 400 250

HA I P U= & U H, gad A 1 WA [ Sreuara & Jad D 52

Options :
1.% T
2.%Q
3.%Pp
4.4 S
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Question Number : 61 Question Id : 9277597761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

Despite many positive factors, the market vitality is gradually being stimulating.
Options :

1. * Despite many positive factors,

2. * the market vitality is gradually

3. % being stimulating.

4. % No error

Question Number : 61 Question Id : 9277597761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

Despite many positive factors, the market vitality is gradually being stimulating.
Options :

1. # Despite many positive factors,

2. # the market vitality is gradually

3. % being stimulating.

4. % No error

Question Number : 62 Question Id : 9277597762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

The protest on the state highway near the village was called off temporarily.
Options :

1. % The protest on the state highway

2. ® near the village was

3. % called off temporarily.

4. ¥ No error

Question Number : 62 Question Id : 9277597762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

The protest on the state highway near the village was called off temporarily.
Options :
1. # The protest on the state highway

2. # near the village was



3. % called off temporarily.
4. ¥ No error

Question Number : 63 Question Id : 9277597763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

Cohen (not has been charge) in the case, but prosecutors are eyeing his business dealings
Options :

1. #® being charged has not

2. % charged has not been

3. % has not been charged

4. % No improvement

Question Number : 63 Question Id : 9277597763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

Cohen (not has been charge) in the case, but prosecutors are eyeing his business dealings
Options :

1. # being charged has not

2. # charged has not been

3. % has not been charged

4. ¥ No improvement

Question Number : 64 Question Id : 9277597764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined



segment, select ‘No improvement’.

India's diversity have always being recognized as a source of its strength.
Options :

1. # have always been

2. ¥ has always been

3. % have always be

4. # No substitution required

Question Number : 64 Question Id : 9277597764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

India's diversity have always being recognized as a source of its strength.

Options :

1. % have always been
2. ¥ has always been
3. % have always be

4. % No substitution required

Question Number : 65 Question Id : 9277597765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

He has repeatedly criticized Western churches as too and too entrenched in consumerism.
Options :

1. ¥ worldly

2. % lurched

3. # rhetoric

4. % tedious



Question Number : 65 Question Id : 9277597765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

He has repeatedly criticized Western churches as too and too entrenched in consumerism.
Options :

1. ¥ worldly

2. % lurched

3. # rhetoric

4. % tedious

Question Number : 66 Question Id : 9277597766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

They a climate emergency, but it feels that every decision that the council has made at the moment is in complete contradiction to this
climate emergency.

Options :

1. # declared

2. % declares

3. % have declared

4. % are declaring

Question Number : 66 Question Id : 9277597766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

They a climate emergency, but it feels that every decision that the council has made at the moment is in complete contradiction to this
climate emergency.

Options :



1. # declared
2. ® declares
3. % have declared

4. # are declaring

Question Number : 67 Question Id : 9277597767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question given below, a sentence is provided with two blanks. Choose the correct combination of words that fit into the
corresponding blanks.

for tests on the immuniser developed in India will serve to the efficacy, safety and consistency between vaccine batches.
Options :
1. % approved, assessing
2. % approval, assess
3. % approval, assessed

4. ® approved, assess

Question Number : 67 Question Id : 9277597767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question given below, a sentence is provided with two blanks. Choose the correct combination of words that fit into the
corresponding blanks.

for tests on the immuniser developed in India will serve to the efficacy, safety and consistency between vaccine batches.
Options :
1. # approved, assessing
2. ¥ approval, assess
3. % approval, assessed

4. # approved, assess

Question Number : 68 Question Id : 9277597768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question given below, a sentence is provided with two blanks. Choose the correct combination of words that fit into the
corresponding blanks.

The first decision that has been is to force multinationals to taxes where they operate.
Options :

1. ¥ ratified, pay

2. # ratify, paying

3. % ratified, pays

4. # ratifies, paying

Question Number : 68 Question Id : 9277597768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question given below, a sentence is provided with two blanks. Choose the correct combination of words that fit into the
corresponding blanks.

The first decision that has been is to force multinationals to taxes where they operate.
Options :

1. ¢ ratified, pay

2. % ratify, paying

3. % ratified, pays

4. % ratifies, paying

Question Number : 69 Question Id : 9277597769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question consists of four statements labelled P, Q, R, and S, which, when logically arranged, form a coherent passage. Choose the option that
represents the most logical order.

(A) However, Carol was not feeling too well to leave the room.

(B) There were many families relaxing on that Sunday afternoon.

(C) Carol looked through the window into the first-class area.

(D) Children were splashing about the pool, and many were sunbathing or snoozing on easy chairs.

Options :



1. # ADCB
2. % CDAB
3. % ACBD
4. ¥ CBDA

Question Number : 69 Question Id : 9277597769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question consists of four statements labelled P, Q, R, and S, which, when logically arranged, form a coherent passage. Choose the option that
represents the most logical order.

(A) However, Carol was not feeling too well to leave the room.

(B) There were many families relaxing on that Sunday afternoon.

(C) Carol looked through the window into the first-class area.

(D) Children were splashing about the pool, and many were sunbathing or snoozing on easy chairs.

Options :

1. ¥ ADCB
2. % CDAB
3. % ACBD
4. ¥ CBDA

Question Number : 70 Question Id : 9277597770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

QUEST
Options :

1. # Path

2. # Destination
3. % Search

4. # Route



Question Number : 70 Question Id : 9277597770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

QUEST
Options :

1. # Path

2. % Destination
3. % Search

4. % Route

Question Number : 71 Question Id : 9277597771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the antonym for the given word.

ABUNDANT
Options :

1. ¥ Scarce
2. * Plentiful
3. % Copious
4. % Ample

Question Number : 71 Question Id : 9277597771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the antonym for the given word.

ABUNDANT
Options :

1. ¥ Scarce
2. # Plentiful



3. % Copious
4. % Ample

Question Number : 72 Question Id : 9277597772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Distilation

2. ¥ Distillation

3. % Destillation

4. # Destilation

Question Number : 72 Question Id : 9277597772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Distilation

2. ¥ Distillation

3. % Destillation

4. # Destilation

Question Number : 73 Question Id : 9277597773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelled word.
Options :

1. # Barbequee

2. % Barbique

3. % Barbecue

4. % Barbiceu



Question Number : 73 Question Id : 9277597773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelled word.
Options :

1. ® Barbequee

2. % Barbique

3. ¥ Barbecue

4. ® Barbiceu

Question Number : 74 Question Id : 9277597774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

A passing resemblance

Options :

1. #® an amusing use of a word that has more than one meaning
2. % a very unpleasant person

3. % aslightly similar appearance

4. ® to think about something before making a decision

Question Number : 74 Question Id : 9277597774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

A passing resemblance

Options :

1. # an amusing use of a word that has more than one meaning
2. # avery unpleasant person

3. ¢ aslightly similar appearance



4. # to think about something before making a decision

Question Number : 75 Question Id : 9277597775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of words.

Written law of a legislative body
Options :

1. ¥ Statute

2. % Stature

3. # Static

4, % Statue

Question Number : 75 Question Id : 9277597775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of words.

Written law of a legislative body

Options :

1. ¢ Statute

2. % Stature

3. #® Static

4. % Statue

Sub-Section Number : 2

Sub-Section Id : 927759368
Question Shuffling Allowed : Yes

Question Id : 9277597776 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.



Diana, Princess of Wales was a member of the British royal family. She was the first wife of Charles, Prince of Wales—the heir apparent to the
British throne—and mother of Prince William and Prince Harry. Diana's activism and glamour made her an international icon and earned her
enduring popularity as well as unprecedented public scrutiny, exacerbated by her tumultuous private life. Diana was born into the British nobility
and grew up close to the royal family on their Sandringham estate. In 1981, while working as a nursery teacher's assistant, she became engaged to
Prince Charles, the eldest son of Queen Elizabeth II.

Their wedding took place at St Paul's Cathedral in 1981 and made her Princess of Wales, a role in which she was enthusiastically received by the
public. The couple had two sons, William and Harry, who were then second and third in the line of succession to the British throne. Diana's
marriage to Charles, however, suffered due to their incompatibility and extramarital affairs. They separated in 1992, soon after the breakdown of
their relationship became public knowledge. The details of their marital difficulties became increasingly publicised, and the marriage ended in
divorce in 1996.

As Princess of Wales, Diana undertook royal duties on behalf of the Queen and represented her at functions across the Commonwealth realms.
She was celebrated in the media for her unconventional approach to charity work. Her patronages initially centred on children and the elderly but
she later became known for her involvement in two particular campaigns, that involving the social attitudes towards and the acceptance of AIDS
patients, and the campaign promoted through the International Red Cross for the removal of landmines. The Princess was initially noted for her
shyness, but her charisma and friendliness endeared her to the public and helped her reputation survive the acrimonious collapse of her marriage.

Sub questions

Question Number : 76 Question Id : 9277597777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, Diana was born into which family?
Options :

1. #* British aristocracy

2. % British nobility

3. % Wales nobility

4. % Wales aristocracy

Question Number : 77 Question Id : 9277597778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, Charles was the prince of which state/country?
Options :

1. * England



2. % Britain
3. ¥ Wales
4. ¥ The UK

Question Number : 78 Question Id : 9277597779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘acrimonious’ mean in the given passage?
Options :

1. # Ostentatiously lofty in style

2. ®% Marked by care and persistent effort

3. # Exact opposite

4. ¥ Full of anger, arguments, and bad feelings

Question Number : 79 Question Id : 9277597780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct, according to the given passage?
Options :

1. #® Diana represented her duties across the Commonwealth realms.

2. ¥ Diana saved her family and kids by getting the divorce.

3. % As Princess of Wales, Diana undertook royal duties on behalf of the Queen.
4. ¥ Diana married Prince Charles, the eldest son of Queen Elizabeth II.

Question Number : 80 Question Id : 9277597781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, why did Diana's marriage to Charles suffer?
Options :

1. #® Due to their public reputation and power

2. ¥ Due to their incompatibility and extramarital affairs

3. % Due to changes in her mental illness and behaviour

4. ® Due to their involvement in various campaigns



Question Id : 9277597776 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Diana, Princess of Wales was a member of the British royal family. She was the first wife of Charles, Prince of Wales—the heir apparent to the
British throne—and mother of Prince William and Prince Harry. Diana's activism and glamour made her an international icon and earned her
enduring popularity as well as unprecedented public scrutiny, exacerbated by her tumultuous private life. Diana was born into the British nobility
and grew up close to the royal family on their Sandringham estate. In 1981, while working as a nursery teacher's assistant, she became engaged to
Prince Charles, the eldest son of Queen Elizabeth II.

Their wedding took place at St Paul's Cathedral in 1981 and made her Princess of Wales, a role in which she was enthusiastically received by the
public. The couple had two sons, William and Harry, who were then second and third in the line of succession to the British throne. Diana's
marriage to Charles, however, suffered due to their incompatibility and extramarital affairs. They separated in 1992, soon after the breakdown of
their relationship became public knowledge. The details of their marital difficulties became increasingly publicised, and the marriage ended in
divorce in 1996.

As Princess of Wales, Diana undertook royal duties on behalf of the Queen and represented her at functions across the Commonwealth realms.
She was celebrated in the media for her unconventional approach to charity work. Her patronages initially centred on children and the elderly but
she later became known for her involvement in two particular campaigns, that involving the social attitudes towards and the acceptance of AIDS
patients, and the campaign promoted through the International Red Cross for the removal of landmines. The Princess was initially noted for her
shyness, but her charisma and friendliness endeared her to the public and helped her reputation survive the acrimonious collapse of her marriage.

Sub questions

Question Number : 76 Question Id : 9277597777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, Diana was born into which family?
Options :

1. #* British aristocracy

2. % British nobility

3. % Wales nobility

4. % Wales aristocracy

Question Number : 77 Question Id : 9277597778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, Charles was the prince of which state/country?
Options :

1. ¥ England

2. % Britain

3. ¥ Wales

4. # The UK

Question Number : 78 Question Id : 9277597779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘acrimonious’ mean in the given passage?
Options :

1. # Ostentatiously lofty in style

2. ®% Marked by care and persistent effort

3. # Exact opposite

4. ¥ Full of anger, arguments, and bad feelings

Question Number : 79 Question Id : 9277597780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct, according to the given passage?
Options :

1. #® Diana represented her duties across the Commonwealth realms.

2. ¥ Diana saved her family and kids by getting the divorce.

3. # As Princess of Wales, Diana undertook royal duties on behalf of the Queen.
4. ¥ Diana married Prince Charles, the eldest son of Queen Elizabeth II.

Question Number : 80 Question Id : 9277597781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the given passage, why did Diana's marriage to Charles suffer?



Options :

1. # Due to their public reputation and power

2. % Due to their incompatibility and extramarital affairs
3. % Due to changes in her mental illness and behaviour

4. # Due to their involvement in various campaigns
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Question Number : 81 Question Id : 9277597782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g

2. % ¥

3. ¢ Ufad

4, % G-

Question Number : 81 Question Id : 9277597782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrefafed & 9 oiH-a1 2es srfe HfY &1 IaTe=u 32
Options :

1. % gt

2. % gg

3. ¢ UfdA

4. % Y-

Question Number : 82 Question Id : 9277597783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ H[DBIR

2. % gogEt

3. % Plaf

4. % AP

Question Number : 82 Question Id : 9277597783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad ¥ ¥ dH 2eg &1 I94 PIToTe-
Options :

1. ¢ 3BT

2. % AR

3. % Pl

4. % qAp

Question Number : 83 Question Id : 9277597784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & 9 1H-91 Wea Uad &1 YART R S/ T 572
Options :

1. % YD

2. % fRIRTY

3. % gfagm

4. ¥ gdllH

Question Number : 83 Question Id : 9277597784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRIT & Y D19-91 og Y& BT TN R §11 71 67

Options :

1. % 3fYSH
2. % ROy
3. % gfaeor
4. A

Question Number : 84 Question Id : 9277597785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
f=faRad & § HH-91 YgoRara® deuaiyd 3y g2
Options :

1. % U9

2. ¢ T

3. % fawg

4. % ARWBd

Question Number : 84 Question Id : 9277597785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafad § § HH-91 YeRam® deusiud 3foqy g2
Options :

1. # Uy

2. ¢ T

3. % fawg

4, % ARWMd

Question Number : 85 Question Id : 9277597786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® ferm

2. % IRYd

3. % 3dd

4. ¥ Jh[h

Question Number : 85 Question Id : 9277597786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g

2. % RYd

3. % 3dd

4, ¢ Joh

Question Number : 86 Question Id : 9277597787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 86 Question Id : 9277597787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i o 9 2reg-gm & Tal 31f-0G &1 99 Bifoie-

dY-dq

Options :

1. % Il - SIgR

2. ¥ Hidde Uefl- ¥ & Jars |
3. % TRMIE - UG & &

4. ® Y& -&Pp



Question Number : 87 Question Id : 9277597788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafad & 9 gafar &1 e sg BH-a18?
Options :

1. % Y

2. % Figpfd

3. ¥ $Pid

4. % HEPid

Question Number : 87 Question Id : 9277597788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafad o 9 gofar &1 faay sg HH-a18?
Options :

1. % Iy

2. % Fgpfd

3. i

4. % GEpid

Question Number : 88 Question Id : 9277597789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T aTeRI=T & foTT Ueh X b1 T HIToL-

ST BRTS IR A, faaRur a1 dise® 3ifdd gi-
Options :

1.+ Toddh

2. % fiRifA

3. % HgIETg

4. % adg




Question Number : 88 Question Id : 9277597789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T a2 & foTT Ueh Xeg b1 T HIToL-

ST TSl TR A, faaRur a1 Hisgeh 3ifdbd Bl-
Options :

1. ¢ Bdld

2. % fyfiie

3. % HgIaTg

4. % Hodgxd

Question Number : 89 Question Id : 9277597790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fRed o § 916 & Y& TU/acH! BT ag- HIToTe-

Options :

1. % UEI BRI g [P S DI TP HIWT T 811 & BRI HIdTHS Thdl ol |
2. ¢ YT TP UV 7 8 & BRI HIAHSD Thdl g g

3. % S H UG HRUT UV 7 811 & HRUT g1 HIaTHS I ol ol

4. % g1 HRUI g [P U B TH HINT 7 8 & HRUT &1, a1 HaTHSdT gl |

Question Number : 89 Question Id : 9277597790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffeRad # & a1e & Y FU/adH! BT TG DIfTL-

Options :

1. % Ug) BRI g fF U Bt T ST 9 811 & HRUN HIaTHS Tball ol 5 |
2. ¢ YT TS YT 7 8 & HRUN HIHS Thdl el g

3. % I H TG HRUT HIWT 9 811 & HRUT g1 HITHSB T ol 6




4. % U5l HRUI B [ S B TH HIWT 7 §1H & HRUI &1, A HIATHS I T8 5|

Question Number : 90 Question Id : 9277597791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrRIR 2 4 .91 g T 2
Options :

1. % =dt

2. Gl

3. % Xt

4. % gt

Question Number : 90 Question Id : 9277597791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RreRie & -9 91 gl 2
Options :

1. % dt

2. ¥ @l

3. %

4. % gt

Question Number : 91 Question Id : 9277597792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e § § SeaTdrde aTe &1 I8 BHITet-

Options :

1. % foR7e 39 HH™ H 381 § Forod it 3mand oft T8d 91
2. % (A B JHR ST SR T +F S|

3. % Y Ha viara § 981 g

4. ¢ qH AU FT & T I8




Question Number : 91 Question Id : 9277597792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feTfeTRad & U SeaTdTdd I 1 I BHiforl-

Options :

1. # fRTe 39 A # 38T & forad et s St 384 2
2. % A B AR T SR T +fF S|

3. % Hpq viara § 981 gl

4. 9 30 S T 9Ha @ |

Question Number : 92 Question Id : 9277597793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTfeTRad & U 9T & UBR b1 Ig DIfoIT-

Options :

1. ® Hgar
2. % HHATH
3.4 YA
4. % U™

Question Number : 92 Question Id : 9277597793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR O @ 91 & UDHR BT Ih DIfTL-

Options :
1. % FHgard
2. % HHA




3.« YIgary
4. % 3HHA

Question Number : 93 Question Id : 9277597794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fefad § § fog gerak &1 o rdehTd TR ST 82
Options :

1. ¢ U /AT

2. # Y- g

3. % gHI IARAT

4. % G Ui SITfd gaT|

Question Number : 93 Question Id : 9277597794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrefeiad & 9 g geTar &1 o1 "deptel TR ST 82
Options :

1. ¢ UM AR

2. % UG g

3. % O IARAT

4. % G Ui SITfd IaT|

Question Number : 94 Question Id : 9277597795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAefoiad # @ deifad "gd HiaR dd Sadr-fadR &1 a1 31 g2
Options :

1. % Aa1-fodr 9ed 98 <adn|

2. ¢ Ue-US 9l Y|

3. % AT S R BRAT S|




4, ® dcye § 3 g

Question Number : 94 Question Id : 9277597795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRed & @ deifad "ugd iR a9 Sadr-fUaR &1 a1 o1 82
Options :

1. % TTar-foar ged 98 <adT|

2. ¢ U2-Uull 9 GYH |

3. % QA S IR IRAT S|

4. % Fege H 3 B

Question Number : 95 Question Id : 9277597796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 feu 7w gt & A 7 9 Ty fomg o1 v 781 fran g2

T° Uto §° 3feg el HelTH ol S 15 HAgaR, T 1931 Dl g3 T
Options :

1. ¢ SgfRM forg
2. % &Y AP T
3. % quffR™ fog

4. % Ui forg

Question Number : 95 Question Id : 9277597796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= feu e gt ® o § 2 forg foreg o1 v =18t fopan g

T° Ui° §° 3fegel HelTH bl O 15 SIgaR, T 1931 Dl g7 T
Options :

1. ¢ 3o fog




2. % &Y YIS forg

3. % quifR™ fog

4. % 3fcuferm™ g

Sub-Section Number : 2
Sub-Section Id : 927759370
Question Shuffling Allowed : Yes

Question Id : 9277597797 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

frEfeRd Tl T ATYdD 3T R U=HI b I afort-

M &1 Ugd Ugh SR FgRi &t S18t a1 9 &1 8l & | 3% Ja a1 HH ad 3! 1id et aidt o | Hiast a1 =it ugfu-fafy &
SR TG a1t Qfe a8 S e-ars § ey HTa=T 1 ST Xeat 8 1 Uikt e &t 30T Sgyfa 81 3mm |t 3R die & Wi bl
T 3 & iR fexaTs Usdr 81 39 9 & RRIe uepfd & & & o A 1 30 ged & UHR BT 3119 $HRT1 ANeT | 5/ TR I
TR & TR & foIE § S PR gad | AT giT & TR & o1 f9%a & 91 Sitad &1 Udhd Aoy gfed gl 81 gl | ofd A
& gQ 3R T BT A AN UH A & JE-Tied & T BT ST, STq ITD| &/ BT TG JORIeH, J&f-adT, I-Uelt, Hie-udi,qasd! &1 &
mézmu;g:’?ga‘rww,aaw% 3AAR BT 35T Ul BT SRR SR T8 ST &1 Tedl U181 81 SITE | hTed 1T o1 1eT 32T YA
R UgaH |

Sub questions

Question Number : 96 Question Id : 9277597798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR, TS ST &1 el WA & 8 Tabdl 62
Options :

1. % dhad I AN P Ugd Ughi |

2. % dHad I IR &t ugd AR |

3. % U DI AT Y|

4.« T & T 3R WY UH A & Hearol Hid |

Question Number : 97 Question Id : 9277597799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
SUad TR & W |, “HTog-anT o Qe ¥ 1 311 62
Options :

1. ¢ ADHHTA

2. % P1g b Ufd HOR G|

3. % BT DI AT DI WY1 & Ul SHRMMEGI SR |

s % P

Question Number : 98 Question Id : 9277597800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T & AR, okt a1 a=h ugfy-Fgfiy o s e aredt e gl
Options :

1. ®* HI¥Y

2. % Y

3. ¢ Siddl

4, % QA4

Question Number : 99 Question Id : 9277597801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWE A F TR YH DI TS YA B
Options :

1. % Fgh

2. ¢ Hfad

3. % gfag

4. % T

Question Number : 100 Question Id : 9277597802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUed TR & 39, Sfta- § WIHIfde qrHe Hd Y4d 87



Options :

1. ® I P Ugd Ugh ok Fafai i
2. % Yfiga o & XS YA 1
3. % yd-&x o qfdq HraT |

4. ¢ IATIABT Il & TR |

Question Id : 9277597797 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

FfIREd TIi=T &1 AT gd e ST HR U=AT & IR GIoTd-

M &1 Ugd TRy 3R gy &) aedt a1 9 8 gl 8 | 31 Hd 1 7Y b It 7fd el gt g | Wi o w=h vafu-fFafy &
ST X aTelt Rfad SHiadT § Sl 4H-& T ifad UG- B ST X o | Hidd & &1 T Syfd 81 39 Tt 3iR Al o H e bl
T I & HiR foaTs usd1 81 59 WH & ol Uehfd & & o o T8 &I 310 §ed & YR &1 3101 1 A1gd | o UHR I
TR & TR & o § I TR ged Wi | IFnfdet gfa & TR & fomt fawa & 91y Sitae &1 Udd qioRg gfed T8 81 9abdl | o1d U
& A 3R 3fHg BT AT AT U & JO-Aed & 1Y 8 ST, Tq IUD! & BT UG JURIeH, g&-7dT, T[-Uelt, Hie-udi g e &
m%wagg?ge‘r\mw,aaw% AR HT Io=d Yuf g1 ST 3R a8 ST &1 el WifATY 81 SITQ | STt TRT Bt AT 34 4y
IR Uga™ |

Sub questions

Question Number : 96 Question Id : 9277597798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR & TR, TS S &1 Tl Ui H8 &7 qhell 82
Options :

1. % hdcl 0 Y DI Ugd Ughi |

2. % D HIA YA DI Ugd Hghi 1|

3. % O] QI 9|

4. ¢ TS & T 3R AN UHid & Hearo] Ui |

Question Number : 97 Question Id : 9277597799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Sudad T o e |, “BTed-aT B LT ¥ T SR 32
Options :

1. ¢ THHTA

2. % BT &b Uld HSR g

3. % BT DT AN DI WY & Uldl SR TR |

s % P

Question Number : 98 Question Id : 9277597800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T ¥ SR, e A T g Faf @ ST T areht 3
Options :

1. ® HI¥Y

2. % WY

3. ¢ il

4. % QY-

Question Number : 99 Question Id : 9277597801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TS MTIR 4o & THD I |
Options :

1. % fagf

2. ¢ Hfad

3. % gfaq

4. % g

Question Number : 100 Question Id : 9277597802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST TR & TR, Sia- H WHIfas Ao o T4 82

Options :



1. ® I &1 Ugd Ugh ik R 91
2. % yfad 4o &1 XHB Y[ |
3. % yH-&x o qfdd HraT |

4. ¢ IATABT IR & TR 9|

Disciplinel
Group Number : 6
Group Id : 927759286
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 927759312
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759371
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9277597803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct for nucleotides in DNA?
Options :

1. # Adenine from pair with cytosine

2. #® Guanine form pair with thymine

3. % Adenine form pair with thymine

4. ® Cytosine form pair with thymine

Question Number : 101 Question Id : 9277597803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed # 3 DNA (ETY) & fdadierss & o gt & &9 91 52
Options :

1. % UfSA1EH, WA & WY I §1d1 8

2. % T[3{FTEH, YT & ATy T ST §

3. ¢ YIS, YA & 1Y g §-1a1 §

4. % AR, U S JY TH S &

Question Number : 102 Question Id : 9277597804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is one of the medico legal importance of incised wound?
Options :

1. ¥ Determination of the age of injury was possible

2. ® Abrasions on the neck of suspect can indicate struggle

3. # Suicidal incised wounds are rare

4. ® Depth of wound shall signify the penetration force

Question Number : 102 Question Id : 9277597804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied # @ ®F ofdd 99 & fafedsa S @fS®! @) ed & 3 T g2
Options :

1. ¢ T D IY (TH) BT YR THT AT

2. % Tfery safdd o) T IR BRI GUY &1 Yobd ¢ Iohdl &

3. ® AT & Jfed UTd RATH §

4. % Y79 B Te0s Ve 9 BT ddbd oIl

Question Number : 103 Question Id : 9277597805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following codes of professional conduct treat evidence for “treat evidence for what it shows not what you think it shows”,
regardless of local rules and regulations?

Options :

1. # Due diligence
2. % Objectivity
3. % Open mind
4. ® Impartiality

Question Number : 103 Question Id : 9277597805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R ot SR fafaw 1 warg fort fom, fFafaRad 3 3 o W Jaraae dfedr, <SS! faardr g 39 o 3ig ¥gd &1 71
& I A DI Sl HTTD! o Bl d8 fGET @ % (treat evidence for what it shows not what you think it shows)” & fore Treg 9a %‘?

Options :

1. # &b IRl

2. ¢ GIIAFI

3. % 3aRdl

4. % fqwerar

Question Number : 104 Question Id : 9277597806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Identify the equipment which is NOT necessary for processing the scene of crime?
Options :

1. % Adhesive ID maker

2. # Explosive detection kit

3. % Expression detection kit

4. ¥ Laptop

Question Number : 104 Question Id : 9277597806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SUSRU B UgdT Bx oll SORTY & TF Bl G B & T SIRID o 67
Options :

1. % 3YRYF 1D HB

2. % THEAIRYq f&earM fbe

3. % URIURH fecaRM fbe

4. QUeIq

Question Number : 105 Question Id : 9277597807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following technique, high pressure is applied to the classical chromatographic columns?
Options :

1. % Gas chromatography

2. ¥ High-performance liquid chromatography

3. # Thin layer chromatography

4. ®% Massspectrometry

Question Number : 105 Question Id : 9277597807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 frg aeie o FerRufafd auicd T (@RS HIHCHhS HiaH) IR 3 aId a1 [BaT SiTdl 82




Options :

1. % 9 gufeRad (19 HHEeITH

2. ¢ I (AT 5o gufaed

3. % Uqat IRd gufeRad (U AR hIAeRRY)
4. % Jefa ufafde-fazayor @ Waead)

Question Number : 106 Question Id : 9277597808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The finger print pattern in which the ridge lines flow into the print from one side, rise in the middle of the pattern and flow out of the print from
the other side is called as

Options :

1. # Whorls

2. % Composite
3. % Loops

4. ¥ Arches

Question Number : 106 Question Id : 9277597808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 TR flie e forad desp (o) Y@t U oR% ¥ fiie & varfed gidl 8, Ued & aid # IHR § SR okl kW ¥ flie ¥ a1eR Fobadi 6,
T Heald 2

Options :

. % Th (FR)

2. % iy fog (@aifore)

3. % TG (UM, W)

4. ¢ 91U (3{T9)

Question Number : 107 Question Id : 9277597809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The impressions left on an object that was caused by contact with footwear are classified as



Options :

1. ¥ Outer impressions
2. % Inner impressions

3. # Imprints impressions

4. % Other evidence from shoes

Question Number : 107 Question Id : 9277597809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SId & WS & HRUT hl g IR Ble! T BT I [ UHR i [l SITdl 82
Options :

1. ¢ SIER1 BY

2. % 3fidRe BU

3. % 3ffbd BY

4. % Sd Y 37 I

Question Number : 108 Question Id : 9277597810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following method of barefoot examination, well recognized identification points of foot are connected with one another by using
a series of measured lines?

Options :

1. % Optical center method
2. % Overlay method

3. ¥ Gunn method

4. ¥ Composite method

Question Number : 108 Question Id : 9277597810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7 Ui (FIRGe) TR0 &1 FRfeiRad o 9 forw fafd &, Ardt 7% Y@sll &1 Us 4ad 1 ST aRdb IR & 3! kg I UgdH o aTd
TgaH {45 To-geR A S 81 87




Options :

1. % UPHIRIG g (PdHd Hev) fafd
2. % IR (3ffara) fafdr

3. ¥ T fafY

4. % TOf3q (@wifore) fafd

Question Number : 109 Question Id : 9277597811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the ridge type which is an independent ridge of relatively small length?
Options :

1. # Hook ridge

2. # Ridge ending

3. % Enclosure ridge

4. ¥ Fragment ridge

Question Number : 109 Question Id : 9277597811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 s (Rol) YR B UgaH &3 S 30eMTdhd BIE! daTS BT Ueb WA Hedb 82
Options :

1. % 3P Hed (gob Ro)

2. ® P 3d (R ufSm)

3. % 3{IcUP B (TTHNTR el

4. ¢ WS Heh (hiHe )

Question Number : 110 Question Id : 9277597812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“one in a population of size N, Such a statement may be interpreted as sufficiently rare within a population. Which statistical probability
distribution is used to calculate the probability of obtaining a particular pattern.

Options :



1. #* Normal distribution
2. * Binomial distribution
3. ¥ Poisson distribution

4. ¥ Exponential distribution

Question Number : 110 Question Id : 9277597812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"N 3R P ATITE! H U, 3Y TRE P Udh HYU- 1 TRSAT TET] & HioR Taltd U J gaH & U | &bl ol Fobdll & | fhat Ry Ue &
U B B UG dT &1 0T o forg fby Tifers i wiiliesdT e o1 SUanT fosar §idl g2

Options :

1. ® YT §c (Normal distribution)

2. % fgug deq (Binomial distribution)

3. ¢ O1g| §cd (Poisson distribution)

4. % TYTAIP] s (Exponential distribution)

Question Number : 111 Question Id : 9277597813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following biological evidence’s sample can be acquired from drinking glasses, cigarette butts, envelopes, and other sources and
then used to identify blood-group substances?

Options :

1. % Sperm
2. # Semen
3. %® Urine
4. ¥ Saliva

Question Number : 111 Question Id : 9277597813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o ¥ ford Sifae I1ed & 1 &1 0 & A, Rie 9y, Rl 3iR o didl ¥ U1t fan S 9T § SR iR Y9a-99g
TeTdf &1 Uga & fore IRt fara ot wevar 82



Options :
1. % SEp1Y]
2. %
3. HA
4, ¢ IR

Question Number : 112 Question Id : 9277597814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reaction which is performed to identify the species of the origin of the bloodstains using turbidity and contamination free dilute blood
solution is known as

Options :

1. # Benzidine reaction

2. % Precipitin reaction

3. ¥ Leucomalachite reaction

4. % Phenolphthalein reaction

Question Number : 112 Question Id : 9277597814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁwag??@m o o Yo faeras o1 SUTRT hrch Idd o Yssll &b FId & UbR Pi UgdH HR o fod 1 S aredt ufafebar «n
Hedldl 82

Options :

1. # dforers sifufan

2.  Tifdufed sifitfosar

3. % gHHABEE HNfHa
4. % ThlemAfer sififehan

Question Number : 113 Question Id : 9277597815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In tooth eruption sequence, the appearance of the deciduous second molars completes the deciduous dentition by



Options :

1. ¥ 2 to 2.5 years of age

2. # 2.5to0 6 years of age

3. % 6 years to 12 years of age
4. ¥ 12 years to 16 years of age

Question Number : 113 Question Id : 9277597815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aidl & 36ad & HH H, I gUR ST IdUre Bt IuRRUTT STl < fa=me &1 1 vl B |
Options :

1.¥2Y25T8 & Y

2. % 25 6TY B 3

3.% a8 Y 12 T9 BT 1Y

4.% 1295 Y 16 T8 B 3

Question Number : 114 Question Id : 9277597816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

type of hallucination is the perception of taste without a stimulus which are typically strange or unpleasant, are relatively common among
individuals who have certain types of focal epilepsy, especially temporal lobe epilepsy.

Options :

1. # Visual
2. % Auditory
3. % Tactile

4. ¥ Gustatory

Question Number : 114 Question Id : 9277597816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THR T ATYH I510% & 91 W16 B Th YR § o HTHAR TR SS9 AT U §Id &, T8 3 Afaad! § SHU&THd IH=I 8Id1 &
52 fordl UpR 1 AP RTUMY S[UR 8T 7, fovly U 9 3Ra WS (Urefh) 3usR |




Options :
1. % g
2. % 44Ul
3. % WRE™
4. 3gHdal

Question Number : 115 Question Id : 9277597817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sexual deviation involves gaining sexual pleasure from seeing others undergo discomfort or pain?
Options :

1. # Fetishism

2. ¥ Sadism

3. % Exhibitionism

4. % Masochism

Question Number : 115 Question Id : 9277597817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # 3 frg 99 foae & R ) Srgfaer a1 dieT | ToRd 8T ST O @ U gidT 82
Options :

1. % WfefRreH

2. ¢ e

3. % UagiaRIfeH

4. % TgfpeH

Question Number : 116 Question Id : 9277597818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The techniques like electrophoresis could be used for the analysis of different
Options :



1. ¥ Noxious chemicals
2. % Arson cases

3. ¥ Toxins

4. # Residues of gun shots

Question Number : 116 Question Id : 9277597818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dggdmURIaeH oIl dd-Idh! T ITRT faftrs & fazeryor & forg fasar S waar g |
Options :

1. # MRS TG

2. % SIS o HIHA!

3. ¢ fauTad uerf

4. % §gb DI TMcll b IR

Question Number : 117 Question Id : 9277597819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The determination of arsenic in the hair of dead bodies buried that are burried for hundreds of years are made possible by
Options :

1. # Nuclear magnetic resonance spectrophotometry

2. % Gas Chromatography- Mass Spectroscopy

3. ¥ Neutron Activation Analysis

4. ® Fourier Transform Infrared Spectrophotometry

Question Number : 117 Question Id : 9277597819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dhe! auf A o TG b a1t § e &1 Ryl fbge grdva 22

Options :

1. % TRAY] g1 3f-1E Ufafdafafa (@agimpieme)




2. % 9 quicrad - Yefd ufafdaes @ Wee ke
3. ¥ i ihyur fazawor
4. % PRI TR 3faRad Ufafaaiifd (BRIR grawid 33pRS Wae b))

Question Number : 118 Question Id : 9277597820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

exposure in any relative time period for which continuous or repeated exposure beyond the acute phase is required for the same chemical
to induce a toxic response.

Options :

1. ¥ Chronic
2. % Sub-Acute
3. % Acute

4. % Fulminating

Question Number : 118 Question Id : 9277597820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopdt ot Tt Ty 3rafe & ford T o forT did =R0T 8 W FRAR 31 TR-ER SHI6R0N 3{a=4 D 8, 39 ot U faured srforan o1 Iia
CREEAIY TR HTTIS ¢ |

Options :

1. ¢ S@Ic®
2. % JUdid

3. % qig

4. ® Tpoid

Question Number : 119 Question Id : 9277597821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the propellant in which the active ingredient is from the family of Cyclo-tri- ethylene-triamine?
Options :

1. # Gun powder



2. % Smokeless powder
3. % Triple based
4. ¥ RDX based

Question Number : 119 Question Id : 9277597821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I YU &1 UgaM &1 o At Teed AISal-cls-SUTSaH-2r33Is- & URdR I gidl 82
Options :

1. # USSR

2. % ¢3fi A USSR

3. % feud enytid

4. ¢ RDX (3{RSITH) TR

Question Number : 120 Question Id : 9277597822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following wads are about 12.5 mm thick and are often greased?
Options :

1. % Cushion wads

2. # Over-powder wads

3. % Under-powder wads

4. % Qver-shot wads

Question Number : 120 Question Id : 9277597822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & 9 319 A 98 THT 12.5 mm HIC BId 8 3R 3R F fobT S 6
Options :

1. ¥ PRI dS (Cushion wads)

2. % fR-UISR TS (Over-powder wads)



3. % 3[SYUTISR d8 (Under-powder wads)
4. % 3fIR-Tc T8 (Over-shot wads)
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Question Number : 121 Question Id : 9277597823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following chemical test for GSR identification is used for the detection of nitrites in the partially burnt and unburnt propellants?
Options :

1. #® Greiss test

2. ¥ Walker test

3. % Tewari test

4. ® Marshall test

Question Number : 121 Question Id : 9277597823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GSR (STTYSR) UgaH & o Fgfafad 7 9 & 9 Imafe tiemr &1 I3ugi, $ifis 0 I Sd 3R f9F1 5Tal yuiies! # Aigerge &
UdT aT & fore o i g2

Options :

1. % g gjeor
2. ¢ TIHR Gef0T
3. % qaR] TRIefor
4. % TR TTefor

Question Number : 122 Question Id : 9277597824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factor hampers the examination of questioned documents, that refers to situations where there is not enough known
writing, or the samples are inadequate, poor-quality or machine-printed and not suitable for comparison?

Options :

1. # Lack of contemporaneous writings submitted for comparison
2. ¥ Insufficient known specimens submitted for comparison

3. # Distortion or disguised writing.

4. ¥ Non-original evidence

Question Number : 122 Question Id : 9277597824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFufafad 7 @ & 91 R IfeT Xarasll &1 §Iia # 9147 STadl 8, Sl 3 Ul &) efifd #vd1 g S8l uaid AT oka- gl gid, a1
T ST B €, TRIS JUE aTel 31 ARIF-Hfd 81d 8 SR gaT o forg Sugad el 8id 67

Options :

1. % T o o0 TR THATHIID <ial T 3{HTd

2. ¢ Qa1 & fore uRga sroaf 3 T

3. % fo=qur a7 g5 d oikaH

4. % Imfers A1y

Question Number : 123 Question Id : 9277597825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is minimum number of photographs that should be taken for each of the items of evidence discovered at the crime scene?
Options :

1.¥2

2.%3

3.% 4

4. % 6

Question Number : 123 Question Id : 9277597825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRTY YT TR UTS T3 18T B T axg o 1e18 ATH a1t adix il o1 aifg?
Options :

1.¥2

2.%3

3.% 4

4. % 6

Question Number : 124 Question Id : 9277597826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The records for which of the following elements is NOT necessary to keep with regard to photography of the crime scene?



Options :

1. # Items covered

2. # Positions of the camera
3. # Type of illumination used

4. ¥ Camera satellite mapping data

Question Number : 124 Question Id : 9277597826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TRTY VYT P BICUht & Tae H FAafeiad # I {6y dw &1 Rl @1 31awad gl 82
Options :

1. % G TS aegail

2. % FIR ! R

3. ® SIIATA B S Tl AR DT YDHR

4. SR AeaTsC AT Ser

Question Number : 125 Question Id : 9277597827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Illegal misappropriation of anything of value including money or property that has been entrusted to the offender’s care, custody or control is
called

Options :

1. # Phishing

2. % Money Laundering
3. ¥ Embezzlement

4. ¥ Web Jacking

Question Number : 125 Question Id : 9277597827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SORTER B g UTa, STERET a1 F=101 & forg 19 7Y o= a1 Sufy wfed Jed &1 fareit oft s &1 sray geuanT HEAN |

Options :



1. % Srergrel (iR
2. % T AifeT

3. ¥ I[dq

4. % 39 SfHT

Question Number : 126 Question Id : 9277597828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a piece of code intentionally inserted into a software system that will initiate mischievous features under definite conditions.
Options :
1. ¥ Logic bomb
2. ® Trojan horse
3. # Data diddling

4. # Salami slicing

Question Number : 126 Question Id : 9277597828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH AT adR Ried T SFgax STal a1 HIS &1 T U § o (1d uRfRufaal & gries gfaunst & oy SR g |
Options :
1. ¢ Qi o9
2. % TS BN
3. % g fesfe
4. % FeATH! TSR

Question Number : 127 Question Id : 9277597829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following device permits the analysis and comparison of inks revealing alterations on a document as well as whole questioned
document without consuming much time?

Options :



1. # Polarizing microscope
2. ¥ Video spectral comparator
3. % Docubox dragon

4. # Voice spectrograph

Question Number : 127 Question Id : 9277597829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad o ¥ B a1 IuHRT 3ifie T 7 Ad gU SN & r-91Y IR Afery cxarael § gRad= Udhe B arelt Wil & fazamor ok
oI Bt GfeT e Bl &2

Options :

1. % ORI ATSh DIy

2. ¥ GifSd Waed HIETRE

3. % Sagaiay $TH

4, % QY WA Th

Question Number : 128 Question Id : 9277597830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following method is actually suitable for dissolved glasses and is a rapid and precise method?
Options :

1. # X-ray diffraction techniques

2. ¥ Inductively coupled plasma atomic emission spectroscopy

3. ¥ Raman spectroscopy

4. # Infrared spectroscopy

Question Number : 128 Question Id : 9277597830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed & @ o9 I fafd araa 7 faafia o & fie Iuged § iR T ad 9u1 s fafdr g2

Options :



1. # XX faaqq de-1®

2. ¢ RO A: AT WoH IRHIa® Ioi Ufdfaae
3. % Y9 gfafdaaeH

4. % ORI UfdTGaGRA

Question Number : 129 Question Id : 9277597831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

____is atechnique of go around normal authentication procedures, generally over a link to a network like the Internet
Options :

1. ¥ Backdoor

2. % Rootkits

3. # Trojan horse

4. % Diddling

Question Number : 129 Question Id : 9277597831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI YHTONRROT Uiharsll, STHAR TR $exc S Sedd fid & forg & o aTefl Ue de-1e B |
Options :

1. ¥ SHER

2. % Feldbe

3. % O8N

4. % fgsfem

Question Number : 130 Question Id : 9277597832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following tests are used to discriminate between paint films of different pigment and binder composition which are already similar
in visual and macroscopical appearance?

Options :

1. ¥ Micro chemical test



2. ® Vibrational spectroscopy
3. # Physical match
4. ® Polarized light microscopy technique

Question Number : 130 Question Id : 9277597832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 ¥ feg wienr o1 Iuan fAfts auie iR due @=er) TR B Ue el & S 3idR J1d 1 & fort fosar Srar 8, St ugd
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Options :

1. ¢ G&H - GRI&00

2. % &y yfafdeez

3. % YRING ffram (hfiSed =)

4. % Ydidhd UHIRI AISHIDIUT qh-ileh

Question Number : 131 Question Id : 9277597833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Net extortion is classified as which type of following cyber crime?
Options :

1. # Criminality against states

2. # Criminality against property

3. ® Criminality against organization

4. ¥ Criminality against society

Question Number : 131 Question Id : 9277597833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ SR aEl (THICIR) P! fhd TR & AR 31y & ¥0 H Fifferd forar T g2

Options :
1. % Y & RIATH 3URTY




2. % TuRy & Raamw a1y
3. % TS b RAATH WY
4. ¢ AN & RIATH 3O

Question Number : 132 Question Id : 9277597834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What type of hackers considers that information distribution is good, and that it is their responsibility to share their knowledge by enabling access
to information?

Options :

1. ¥ White hat hackers
2. % Black hat hackers

3. ® Grey hat hackers

4. ¥ Robbinhood hackers

Question Number : 132 Question Id : 9277597834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o THR & §HR A & 1o LT [GaRUT 3BT §, 3R TG 3] oTHGR! ¢ fob o Yo ab Ugd Bl G&fH HRch 37U T DI AT B2
Options :

1. ¥ 98¢ 5 g

2. % &I g gh Y

3. % g ey

4. % IMOIgS gHY

Question Number : 133 Question Id : 9277597835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The study of the human skeleton including anatomy, demographics, and pathology is known as
Options :

1. # Human biology

2. ¥ Osteology



3. # Primatology
4. % Palaecoanthropology

Question Number : 133 Question Id : 9277597835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRR X1 {3, SiReTes! 3R il faxT wfed AIa SobTd & S1eqd B 1 gl oIl 67
Options :

1. % HI Sitq faqm

2. ¢ 3R fa3A

3. % UIgHCiR

4. % QR4 fazm™

Question Number : 134 Question Id : 9277597836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
contain five cylinder-shaped bones which are added up to the adjacent side and has three surfaces: medial, lateral, and dorsal.
Options :
1. # Carpals
2. ¥ Metacarpals
3. % Phalanges
4. ® Metatarsals

Question Number : 134 Question Id : 9277597836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ui e (RIieR) & ATHR &1 gIgal Bich g oIl (Hdbedd] Ue U Sl & 3R SHP! oI Idg aldl o: Headt, e 3R gy |
Options :
1. % AEY (@de)
2. ¢ THRYIRQY (ATHTIR)
3. % SCHTRYAT (Wetiol)




4. % YOfed (HeTerid)

Question Number : 135 Question Id : 9277597837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which metal compound is used in photography?
Options :

L. # [Ag(S:05)]

2. % [Ag(SO4)]

3.9 AgCl

4. % [Ag(SO2)]

Question Number : 135 Question Id : 9277597837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST § fobr U1 9fiTes o1 SuaT fobar o 82
Options :

L. # [Ag(S:0s)]

2. % [Ag(SO4)]

3. ¥ AgCl

4. % [Ag(SO2)]

Question Number : 136 Question Id : 9277597838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which compound is used to estimate the hardness of water?
Options :

1. # Na:EDTA

2. % EDTA(CL)

3. ¥ H.EDTA

4. ¥ EDTA



Question Number : 136 Question Id : 9277597838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{5 P BT ITTIT UT &1 HARAT BT SHH T & forg farar S g2
Options :

1. # Na.EDTA

2. % EDTA(CL)

3. ¥ HEDTA

4. ¥ EDTA

Question Number : 137 Question Id : 9277597839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the key feature of supramolecular chemistry?
Options :

1. % ability to increase number in multiples

2. % ability to regain

3. ¥ ability to reorganize and exchange molecules

4. ® ability to decrease their number

Question Number : 137 Question Id : 9277597839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fO=ITe- 310[eh Ot Xame O &t Ui fa=iwdT &m 82
Options :

1. % U] T TRSAT G ! &l

2. % U YTt DR P &l

3. ¢ U3l DI TAITSd I SR faf g o & e

4. % 3Tp] AT HH H bt &

Question Number : 138 Question Id : 9277597840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists worked on the Stability Constants of Metal Complexes in Solution?
Options :

1. % Planck

2. ¥ Bjerrum

3. # Chejken

4. % Murre

Question Number : 138 Question Id : 9277597840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeaied & @ fora asnfe 3 faae & u1g Ial & fRRdr fRRie R o1 faam
Options :

1. # Wi

2. ¥ FoRY

3. % Tofhe]

4. % R

Question Number : 139 Question Id : 9277597841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the reaction in which synthesis of biaryls takes place by heating aryl iodides with copper powder
Options :

1. % Ullmann reaction

2. # Gattermann reaction

3. ® Kolbe's reaction

4. % Wurtz reaction

Question Number : 139 Question Id : 9277597841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ IAHH HUfeHaT

2. % Teie SHfiyfopar

3. % Pled Ul

4. % g9 AT

Question Number : 140 Question Id : 9277597842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is full form of "GIXD"?

Options :

1. # grasping incidence x-ray diffraction
2. % grouping incidence x-ray diffraction
3. % griping incidence x-ray diffraction

4. ¥ grazing incidence x-ray diffraction

Question Number : 140 Question Id : 9277597842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GIXD &1 quf UU= 37 82

Options :

1. % e 3fRre—g x X felhavm (grasping incidence x-ray diffraction)
2. % ‘gﬁﬂ 5@5“{4 x= feThaem (grouping incidence x-ray diffraction)
3. % Ot 3‘@37\‘:[ x= fEtha=r (griping incidence x-ray diffraction)

4. ¢ URHT $Ir“\{-I5f{-I x=X fehaer (grazing incidence x-ray diffraction)
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Question Number : 141 Question Id : 9277597843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be obtained when 2-methyl -2-butane is treated with Os, CH2Cl: (-73 degree Celcius ) and Zn/HOAc
Options :

1. ¥ Acetone + Aldehyde

2. # Butane + formaldehyde

3. * Acetone + Anhydride

4. # Acetone + Acetaldehyde4



Question Number : 141 Question Id : 9277597843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2-HUIEA 2GS BT 05, CH2Cl (73 TSI AfRTT) 3R Zn/HOAC T IU=RT HRA TR &1 UTed RTT?
Options :

1. ¥ T + Ufesges

2. % A + HHCSEIES

3. # QHICH + TTE13gI8S

4. * TR + RicTeeTESs

Question Number : 142 Question Id : 9277597844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sodium ethynide and other sodium alkynides can be prepared by treating terminal alkynes with sodium amide in
Options :

1. ¥ platinum

2. # liquid ammonia

3. * nickel

4. # liquid hydrogen

Question Number : 142 Question Id : 9277597844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TQifSTH THIE S & 1Y fifd Tepre ! g & Iu=iRd o TfsaH TRMTES 3R 3 QifeyH Tehss dUR HU &1 Iohd &
Options :

1. ¢ wifeTq

2. % TRA HIAAT
3. % fAod

4, % A gIEglo

Question Number : 143 Question Id : 9277597845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The spectrum of Li* is similar to :
Options :

1. ¥ hydrogen

2. # lithium

3. % helium

4. % boron

Question Number : 143 Question Id : 9277597845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Li+ & WaeH 9 & IAF &

Options :

1. ¢ gIEgloH

2. % farfgs

3. % fefergm

4. % R

Question Number : 144 Question Id : 9277597846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who received Noble prize for black body radiation?
Options :

1. # Einstein

2. % Planck

3. % Maxwell

4. % Neil Bohr

Question Number : 144 Question Id : 9277597846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



{8 HresT fafdur & ferg Hied GRIBR e
Options :

1. ® 39T

2. ¥ Wb

3. % Hogad

4. % FITER

Question Number : 145 Question Id : 9277597847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the number of nodal plains in s,p and d orbital respectively?
Options :

1.¥0,1,2

2.% 21,0

3. % 1,1,1

4. % 20,2

Question Number : 145 Question Id : 9277597847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BHT: 5, p 3R d HYD T PG Idg o1 TSI T 82
Options :

1.¥0,1,2

2. % 21,0

3.% 1,11

4, % 20,2

Question Number : 146 Question Id : 9277597848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will be the probable radius (in pm) for finding the electron in Li™* ?
Options :



1. % 529
2. %259
3. %234
4.9 17.63

Question Number : 146 Question Id : 9277597848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Li+ T Zoldgi- @ioi & forg Juifad Bsam (pm &) 1 g
Options :

1. %529

2. %259

3. % 234

4. 17.63

Question Number : 147 Question Id : 9277597849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be formula of Energy in (eV) of a photon in vacuum? (Where A is measured in = A )
Options :

1. ¥ 12375+ wavelength

2. % 14567+ wavelength

3. #® 17657+ wavelength

4. # 13456+ wavelength

Question Number : 147 Question Id : 9277597849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fyafd & wiei &t St (V) T Soll o1 I3 71 82 (STE1 A Bl = A T HIUT ST 8)
Options :

1. ¢ 12375+ a3 e (12375+wavelength)




2. ® 14567+ AGE (14567--wavelength)
3. % 17657+ A (17657+wavelength)
4. % 13456+ TG (13456+wavelength)

Question Number : 148 Question Id : 9277597850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Silver is not attacked by

Options :

1. # sulphuric acid

2. % nitric acid

3. ¥ aquaregia

4. ¥ hydrochloric acid

Question Number : 148 Question Id : 9277597850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR GRI B g1 b1 STl &
Options :

1. ® TP

2. % 3feh

3. % IR

4. ¥ QIESIaNING 3

Question Number : 149 Question Id : 9277597851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the two compounds are isomorphous?
Options :

1. ¥ FeS04.7H-0 and ZnSO..7H-0

2. % NaOH and HCI



3. ¥ HCl and KC1
4. % ZnO and HNOs

Question Number : 149 Question Id : 9277597851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31 A § Q B 91 THIB (A B2
Options :

1. ¢ FeS0:.7H:0 3R ZnS04.7H:0

2. % NaOH 3R HCI

3. % HCI R KCI

4. % 7nO 3R HNO;

Question Number : 150 Question Id : 9277597852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is Brown's catalyst?
Options :

1. ¥ Nickel boride

2. # Nickel Sulphide

3. % Titanium Oxide

4. ¥ Nickel bromide

Question Number : 150 Question Id : 9277597852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ oF 9189 SRS &2
Options :

1. ¢ Aopd IRES

2. % A d gewrss

3. % C[ECI-gH AaSsS




4. % Fpd JHRS

Question Number : 151 Question Id : 9277597853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the colour of Tm3*?

Options :

1. # Yellow

2. # blue

3. ¥ green

4. ¥ purple

Question Number : 151 Question Id : 9277597853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tm3* BT HT R §?

Options :

1. % diar

2. % e

3.1

4. % ST

Question Number : 152 Question Id : 9277597854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is reagent in synthesis of trans-5-Methyl-2-hexene —2- methylhexane ?
Options :

1. ¥ H,Pd,Pt or Ni catalyst ,pressure

2. # Cl2,Ni,Pt,Pd catalyst, pressure

3. % Cu, Sn,Pt catalyst, pressure

4. # Ti,Sn,Pt catalyst ,Pressure



Question Number : 152 Question Id : 9277597854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 g-5-ugd-2- 3 —2-Prusas R & gxavn § sifiiete g2
Options :

1. ¢ H,,Pd,Pt O7 Ni SER®, Gd

2. % Cl, Ni, Pt, Pd SR, T

3. % Cu, Sn, Pt SOR®, &1d

4. % Ti,Sn,Pt IARP, T

Question Number : 153 Question Id : 9277597855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the intermediate obtained in the following reaction phenylmagnesium bromide + Formaldehyde — benzyl alcohol
Options :

1. ¥ C.HsCH: --O-Mg+Br

2. % Ce¢HsCH2--MgBr

3. ¥ CsHsCH.--MgCl

4. % CeHsCHa--Megl

Question Number : 153 Question Id : 9277597855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad siftiforar & urd Teaad! T 919 Sd133: BHARIRHT SRS + BHtSeRs — Sosd 3fehed
Options :

1. ¥ C.HsCH: --O-Mg+Br

2. #® CsHsCH.--MgBr

3. ¥ CeHsCH2--MgCl

4. % CsHsCHz--Mgl




Question Number : 154 Question Id : 9277597856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be obtained when 2-methylpropene is reacted in the presence of nickel and ethyl alcohol?
Options :

1. # Cyclohexane

2. ¥ Isobutane

3. ¥ propane

4. % butane

Question Number : 154 Question Id : 9277597856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oIS 2- RIS A &1 fad SfR TRIA sicdied o Jureufa | sifliferar &t STt § ol 9 U1 g
Options :

1. % HISoiloRT

2. ¢ 313G cH

3. % U

1%

Question Number : 155 Question Id : 9277597857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following will act as catalyst in the following reaction: Cyclononyn— + 2H.—Cyclononanone
Options :

1. ¥ pd, ethyl acetate

2. # pd, ethyl alcohol

3. % Ni, ethyl acetate

4. % Ni, ethyl alcohol

Question Number : 155 Question Id : 9277597857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafefad 7 @ oF o1 RafaRad siftfea & IERs & w0 & &1 H3T: Fgaadmd— + 2H.— JRFa A
Options :

1.+ pd,QfﬁF‘[Qﬁlﬁ?

2. ¥ pd, T 3fehlgd

3. % Nj, T uRice

4. % Ni, Ud fehlgd

Question Number : 156 Question Id : 9277597858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be obtained when 1- bromo-2-butanol reacts in the presence of Zn,H+ (-ZnBr2) ?
Options :

1. ¥ 2- butanol

2. % 3- butanol

3. % 4-butanol

4. # 7-butanol

Question Number : 156 Question Id : 9277597858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 1-STH1-2-§IEAId Zn,H+ (-ZnBrz) 1 SUTRTA T SHTFHTT BT § o o1 T g2
Options :

1. ¢ 2- Al

2. % 3. eAld

3. % 4.gCAMd

4, % 7-cAld

Question Number : 157 Question Id : 9277597859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is not an application of adsorption?
Options :

1. #® In gas masks

2. # In chromatographic analysis

3. % For dyeing

4. ¥ in quantitative analysis

Question Number : 157 Question Id : 9277597859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 § o a1 iferyor o1 Sy el 82
Options :

1. % T ARS o

2. % quicid! fazeyor d

3. % TS & forw

4.« HEATHD fa=etyor #

Question Number : 158 Question Id : 9277597860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following reaction is fractional order?
Options :

1. % 2NO + Br. — 2NOBr

2. % CO + Cl.— COClL

3. % 2HI > H2+ I

4, % CoHs + H2 — CoHe

Question Number : 158 Question Id : 9277597860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad 3 9 o O sififpar e Sife 89

Options :



1. % 2NO + Br. — 2NOBr
2. % CO + Cl.— COClL

3. % 2HI > H2 + I

4, % C;Hs+ H2 — C2He

Question Number : 159 Question Id : 9277597861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factor does not effect the rate of reaction?
Options :

1. # Temperature

2. % surface area

3. ¥ molecularity

4. % Presence of light

Question Number : 159 Question Id : 9277597861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfRed & ¥ D I SR TR B &R B THTIIT g1 Bl 62
Options :

1. % dI9HE

2. % U¥Ig &Amd

3.« UHTI

4. % JopTR ] JURRIFA

Question Number : 160 Question Id : 9277597862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is Debye-Huckel-Onsager equation?
Options :

1. % Ac= Ao+ bVC



2. % Ac=No-Db(C)
3. % Ac=ANo+Dbc
4. ¥ Ac= Ao - bVC

Question Number : 160 Question Id : 9277597862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad 7 @ o Sa)-gh d- TR GHiH 82
Options :

1. ® Ac=Ao+bVC

2. % Ac=No0-Db(C)

3. % Ac=ANo+bc

4.9 Ac= Mo - bNC
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Question Number : 161 Question Id : 9277597863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N3H is formula of which of the given compound?
Options :

1. # Hydrazine

2. ¥ Hydrazoic acid

3. % Hydroxylamine

4. ¥ Hydrazone

Question Number : 161 Question Id : 9277597863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
N;H, fou e 9 o § foreret 9 2
Options :

1. ® gIggIfeH

2. ¥/ BIESISIgD 3

3. % grEeliayd Mg

4, % EIQSAIGJ B

Question Number : 162 Question Id : 9277597864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following compound is called pearl white?
Options :

1. ¥ BiOCl

2. % BOCI

3. % NaCl

4. % SiOCl

Question Number : 162 Question Id : 9277597864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 ¥ fg 9ifie &) Jid) &1 11 (Ud ®15c) Bl Sidl 82
Options :

1. ¥ BiOCl

2. % BOCI

3. % NaCl

4. % SiOCl

Question Number : 163 Question Id : 9277597865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cementite is also known as

Options :

1. % Iron carbide

2. % Copper carbide

3. ¥ magnesium carbide

4. ¥ sulphur carbide

Question Number : 163 Question Id : 9277597865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HiHerse ot & =g H f ST S R |

Options :




1. ¢ 3R FEES
2. % PHIR PESS
3. % OURA wefss

4. % JpR HIISS

Question Number : 164 Question Id : 9277597866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When Hypohalites disproportionate in aqueous solution on heating it produces
Options :

1. # Halohalides

2. # Halolites

3. ¥ Halites

4. ¥ Halates

Question Number : 164 Question Id : 9277597866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O gTRuleaEey TH HR TR STeitd faera= §f SRHTuTd 81 5id § dl I8 9 Sad aal g
Options :

1. * galeezed

2. % gollagey

3. % garscy

4, ¥ gAY

Question Number : 165 Question Id : 9277597867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the reaction : 2K-MnO4+ 4KOH +0>—
Options :

1. ¥ KMnO



2. * MnO4
3. * Mn20O4
4. # Mn2SOs

Question Number : 165 Question Id : 9277597867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHTUHT quf Y 2KaMnO«+ 4KOH +0.—
Options :

1. ¥ KMnO

2. % MnO4

3. % Mn2Os

4. % Mn2SOs

Question Number : 166 Question Id : 9277597868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not an antacid?
Options :

1. % Zantac

2. % Omeprazole

3. % Iproniazid

4. # Lansoprazole

Question Number : 166 Question Id : 9277597868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed o 9 &9 91 uaw T8l 82
Options :

1. % 9 Ch

2. % AT



3. ¢ SIS
4. % GOSN

Question Number : 167 Question Id : 9277597869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is supposed to be toxic for cancer cells?
Options :

1. # Chloramphenicol

2. ¥ Dysidazirine

3. # Halothane

4. % Penicillin

Question Number : 167 Question Id : 9277597869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Froffad & 9 SIF 1 IR BT 3 e fured T e 82
Options :

1. % FARMHBHDI

2. ¢ SHRTSTIRA

3. % gaRA

4. % UfARyfer

Question Number : 168 Question Id : 9277597870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Toxic agents can be classified on the basis of:

1. Target organ

2. Physical State

3. Reactivity

Options :

1. % Only 1



2. % Both 1 and 2
3. ® Both 2 and 3
4. v All1,2and 3

Question Number : 168 Question Id : 9277597870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fasTad e fgfaied o 9 g surR R afferd far o 9 d &
1. STi&rT 3T

2. Hifaes e

3. ffNfram=itad
Options :

1. % $Had |

2. % 1 3R 2 gl
3. % 2 3R 3 qHI
4.4 1,2 3R 3 gt

Question Number : 169 Question Id : 9277597871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The chronic exposure of smoking cigarette can cause:
a. nervous system stimulation

b. bone marrow damage

c. emphysema

Options :

1. # Onlya

2. % Only ¢

3. % Bothaandb
4. % Bothaandc

Question Number : 169 Question Id : 9277597871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
YUl Dl LEANIRRES G| (chronic exposure), fFafaRad & T feaeT R a9 Tad %1

o

a. AAPT &7 Iga iU
b. 3 AT &ifd
¢. A

Options :

1. % Had a

2. ¥ $Had c

3. % 3 3R b gl
4. % 23R ¢ gl

Question Number : 170 Question Id : 9277597872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an example of Receptor Tolerance?
Options :

1. ¥ Cadmium and metallothionein

2. ® Nicotine in cigarettes

3. # Morphine and opioid receptors

4. ® Muscarinic Ach receptors

Question Number : 170 Question Id : 9277597872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B INITEREES] ﬁ:f-ﬂ'[, UTal Te=itad (Receptor Tolerance) T 3&lgRUl T8l %?

Options :

1. ¢ Sy 3R e~ (metallothionein)
2. % RERel 4 Aapifed

3. % Tt 3R BT AT

4. % TP THITT (TRICTZADICS) 18!



Question Number : 171 Question Id : 9277597873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The features of Teratogenicity test is/are

a. Test substance is administered to pregnant animals

b. The damage to the birth of the fetus caused by test substance is determined

c. Animals with high frequency of occurrence of naturally occurring abnormalities are selected

Options :

1. * Bothaandc
2. % Bothbandc
3.¥ Bothaandb
4. % Alla,bandc

Question Number : 171 Question Id : 9277597873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foegoHe udieu & fadwarfadvan P 2/

a. T1eror gerd, mieria SHeRl @1 foar S |1

b. T8&r07 g gRT YOI & U Bl g% &ifd 1d 31 el |

c. U Tad FU I §H aTelt SRS &1 3o S aTel SI-aR] d! aafd faal STa g |
Options :

1. = a@:ﬁ?ca:ﬁ
2. % bGﬁTca:ﬁ
3. ¢ 2 3R b gl
4. % a,bGﬁTcﬂlﬂ

Question Number : 172 Question Id : 9277597874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Examples of asphyxiating gases is/are

1. Argon

ii. Nitrogen

iii. butane

Options :



1. ® jand ii
2. % 1 ii and iii
3. % i and iii

4. % iand iii

Question Number : 172 Question Id : 9277597874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yrTERI AT BT/ IeeRy FE B8
i, 3

ii. Argcro

iii. Sgc

Options :

1. % i 3R ii

2. ¢ i, ii 3R iii

3. % ii 3R iii

4. % | 3R iii

Question Number : 173 Question Id : 9277597875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is considered as the mother of environmental toxicology?
Options :

1. # Mathieu Orfila

2. # Marie LaFarge

3. % Rachel Carson

4. % Jonathan Pereira

Question Number : 173 Question Id : 9277597875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



UOiaRUiy faufase ot ST fbd AT STTdT 82
Options :

1. % T 3{Rfar

2. % B8 ATBTS

3. ¢ WA BT

4. % SIHTYE ORT

Question Number : 174 Question Id : 9277597876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the color coded for the infectious waste that is required to be incinerated?
Options :

1. * Orange

2. % Purple

3. ¥ Yellow

4. # Blue

Question Number : 174 Question Id : 9277597876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I YhTHSD AURTY BT T Fe (PIs) 1 7, T 4T 3iférd giar g2
Options :

1. #% ARt

2. % T

3. ¢ Tidl

4. % e

Question Number : 175 Question Id : 9277597877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of maximum dose (mg) of Lidocaine; a local anesthetic in a plain solution?



Options :

1. % 175 mg
2. % 350 mg
3. % 500 mg
4. % 250 mg

Question Number : 175 Question Id : 9277597877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e, [ o AgSie, T R F9d® & Sifiiddd QR1% &1 A (mg) fhd-T 8idT 82
Options :

1. % 175 mg

2. ¥ 350 mg

3. % 500 mg

4. % 250 mg

Question Number : 176 Question Id : 9277597878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The different shapes of Prokaryotes is/are
a. helical

b. cocci

c. bacillus

Options :

1. #* Bothaandb

2. % Bothbandc

3. # Bothaandc

4. % Alla,bandc

Question Number : 176 Question Id : 9277597878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



UTadh ! Sidl ®1 [afNa Sdpiadr, fed UeR &1 gl 82
a. PSICId (helical)

b.m(cocci)

c. &SI (bacillus)
Options :

1. % 2 3R b gl
2. % b 3R c Al
3. % 3 3R ¢ Ml
4.9 a b 3R ¢ gt

Question Number : 177 Question Id : 9277597879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The functions of membrane proteins is/are
1. Intercellular joining
2. Signal transduction

Options :

1. % Only 1

2. % Only 2

3.4 Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 177 Question Id : 9277597879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3reeht Tt b1/ UeTd 19 A 3732

. 3RDIRID Y HiYHI0T

2. Hbd URSGHT]

Options :

1. % &Had 1
2. % Had 2
3. ¢ 1 3R 2 gl




4. % FA 1782

Question Number : 178 Question Id : 9277597880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the statements is/are true?

A. Hypertonic solution: solute concentration is greater than that inside of the cell and cell loses water

B. Isotonic solution: solute concentration is less than that inside of the cell and cell gains water

C. Hypotonic solution: solute concentration is same as that of inside the cell and no net water movement

Options :

1. ¥ Only A

2. % Only B

3. % Only C

4. % Neither A, B nor C

Question Number : 178 Question Id : 9277597880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & 4 PR HYT TG /e

A. AR faeraq: faera &) igdr HIRIeT & 3R BT e f® i) 8, 3R HIfRBT I odd BT g gl 2|
B. YRR faaa: faca o Aigd, SRS & 3fex Bt 3Ue HH gid! &, AR HIRIHT od UTed &t 5 |

C. RIR] faea: facrg &t Tigdl, HIFRAST & 3R & A Bl 7, 3R 5d HT Ia- el gl

Options :

1. Had A

2. % Had B

3. % Had C

4. % A BYUIC DS el

Question Number : 179 Question Id : 9277597881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true about the factors affecting diffusion rate?
a. Steeper gradient results in faster diffusion



b. High temperature results in faster diffusion
¢. Smaller molecular size results in slower diffusion

Options :

1. #* Bothaandc
2. % Bothaandb
3. % Bothbandc
4. % Alla,bandc

Question Number : 179 Question Id : 9277597881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR0 R B YHIfad B 91 FRPT & Iy H FuferRad & 3 oF-91, I8t 82
a. TSI UGUIAT (Steeper gradient) % URUIRGEY 3U&THd oig faTRUT i1 §
b. 3= AYHM & TRUTAGRT 3ehd g faRur gl |

c. 3UETHd BIC 3MUMIH HHR & URUTHERY 3fUeTdHd He [auRur gidr |

Options :

1. % 2 3R ¢ gl
2. ¢ 2 3R b gHl
3. % b 3R ¢ gl
4. #® a,bGﬁTcﬂlﬁ

Question Number : 180 Question Id : 9277597882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Epidemiological data for hazard assessment is/are
1. less precise
2. less relevant

Options :

1. ¥ Only 1

2. % Only 2

3. % Neither 1 nor 2
4. % Both 1 and 2



Question Number : 180 Question Id : 9277597882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & AHTHaA %mq@rﬂﬁ iak‘ll"l geeht 3‘Ilcbé (Epidemiological data) Eﬂ?f%

1. B D (URY)

Options :

1. ¥ $ad |
2. % Had 2
3% Ta 19812
4. % 1 3R 23!

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :
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Section type :
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Number of Questions :
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927759290
0
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No
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927759316
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Online
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Number of Questions to be attempted : 20

Section Marks : 20
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Sub-Section Number : 1
Sub-Section Id : 927759375
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9277597883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following correctly defines the Margin of exposure?
Given: LOEL - Lowest dose at which there was an observed effect
BMDL - Benchmark dose level

Options :

1. ® Ratio between the LOEL and the estimated human exposure

2. ® Ratio between the BMDL and the estimated human exposure

3. ¥ Ratio between either the LOEL or BMDL and the estimated human exposure
4. ® Ratio between the LOEL and BMDL

Question Number : 181 Question Id : 9277597883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o § & F-91 TaauioR Aol &1 981 dve § TR SRl 82
f&am 7T §: LOEL - fgaw GqR1es, forg wR wvra Oféra fosan mar|

BMDL - HId GR[h ¥dX (Benchmark dose level)

Options :

1. ® LOEL 3R A AHdIg TRIUoR & did 3Td

2. % BMDL 3fRR 3T AFER TaRIUIoR & & SUTd

3. ¥ LOEL U1 BMDL 3R 3{JHId AFE TRIUoR & s $UTd

4. % LOEL 3R BMDL & &9 3JuTd

Question Number : 182 Question Id : 9277597884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following classes of chemicals are considered as carcinogens?
1. Hydrazines

2. Aromatic Amines

3. Epoxides

Options :

1. # Only 1

2. % Only 2

3. % Only 3

4. 9% All 1,2 and 3

Question Number : 182 Question Id : 9277597884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl 1 Fafafed 7§ @ o 9/ ot SReRS (carcinogens) T STTd %‘?

1. @ﬁ?@g (Hydrazines)

2. i Q'Jﬂ:?f (Aromatic Amines)
3. [UIRATL S ¥ (Epoxides)

Options :

1. % had 1

2. % Hhad 2

3. % a3

4. 1,2 3R 33

Question Number : 183 Question Id : 9277597885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of an inorganic exogenous chemical, a carcinogenic agent?
Options :

1. # Benzene

2. % Chromium

3. % Formaldehyde



4. % Nitrosamines

Question Number : 183 Question Id : 9277597885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad § § PH-91 T 3T igsid I, Th $HERoD HHD Pl a6 82
Options :

1. # a'Trﬂ:f(Benzene)

2. ¢ DITIH (Chromium)

3. % BIHICSEIZS (Formaldehyde)

4. % ?fg@@jﬂ:\q(Nitrosamines)

Question Number : 184 Question Id : 9277597886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the examples of Personal protective equipment used to reduce the carcinogen exposure?
1. Biosafety cabinets

ii. Splash goggles

iii. Respirators

iv. Fume hoods

Options :

1. # Bothiand ii

2. % Both iii and iv

3. % Both ii and iii

4. % Bothiand iv

Question Number : 184 Question Id : 9277597886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRd & ¥ & 93, $IRBRD HUDh HH B & [o18 TG Hoh YRETHD STHIV H1/d IaT6R0l 6/8?
i. STaYRE Dio-ic

i, TTRT IRAT




iii. AR

iv. JH gS
Options :

1. % i 3R ii gAY
2. % ji 3R iv Al
3. ¢ i 3R iii gl
4. % i 3R iv

Question Number : 185 Question Id : 9277597887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In relation to carcinogens, the records of exposure, monitoring and medical exams must be kept for how many years?
Options :

1. ¥ 30

2. %20

3.% 10

4, % 25

Question Number : 185 Question Id : 9277597887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIRSHD! & Gy T, Judh, FRRT SR Rafercqata aigoi & sifirera fdha auf g 3@ o SifAard 82
Options :

1. ¥ 30

2. %20

3.% 10

4, % 25

Question Number : 186 Question Id : 9277597888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the statements is/are true about DNA damage?



1. Clastogenesis- Results in gain, loss or rearrangement of pieces of chromosome

2. Aneuplody - Gain or loss of one or more chromosomes
Options :

1. % Only 1

2. # Neither 1 nor 2

3. % Both 1 and 2

4. % Only 2

Question Number : 186 Question Id : 9277597888 Question Type :

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

MCQ Option Shuffling : Yes Is Question Mandatory : No Option

ST (DNA)%%Wﬂﬁﬁ?ﬁ@ﬂﬁ@rﬁqm@aﬁmﬂﬁ%%v
1. FOREISHITY- 3 URUMTAEREY UG &1 U, 8T, 31 (IR0 gial g |

2. TEZS! (Aneuplody) - U T 3D TURE o1 UTftet A1 g1 |

Options :

1. % &Had 1
2. % Al 1982
3. ¢ 1 3R 2 Gl
4. % Had 2

Question Number : 187 Question Id : 9277597889 Question Type :

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The features of most useful chelators is/are

a. low order of toxicity

b. can be eliminated quickly without breakdown
c. can be redistributed to other organs

Options :

1.¥ Bothaand b

2. % Bothaandc

3. % Bothbandc

4. # Neither a, bnor ¢

MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Question Number : 187 Question Id : 9277597889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UG dlaiex (chelators) ﬁﬁ’-‘aﬂ?ﬂﬂ{ %/%
a. Y 0 @ fquTaar

b. a1 & fomn <fiaar I Iferd favan s AT g |
c. 31 3T P YATIANd fohar <1 Thar g |

Options :

1. ¢ 2 3R b gl

2. % 2 3R c el

3. % b 3R ¢ gl

4. % A BUIC B ol

Question Number : 188 Question Id : 9277597890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following properties does not hold true about Arsenic?
Options :

1. ® It is extensively available in the form of oxides or sulfides

2. # It is a protoplastic poison as it affects the sulphydryl groups of cells
3. ¥ It is the 7th most abundant element on earth

4. ® Chronic arsenic toxicity causes pigmentation and keratosis

Question Number : 188 Question Id : 9277597890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & IR H, Fgfefaa § 3 w1 qured wgt e 82

Options :

1. % I8 RS I YhR8d & Wy § A0®h 0 H Suds 5 |

2. % 23|_'6'Fﬁa'lf’m@$ﬁ'ﬁf(protoplastic poison)%ﬂ%%ﬁ%ﬁ%%@ﬂ%ﬁqmﬁwgl
3. ¥ U8 Jadl IR 731 9a TR d o




% RIS MR fauTadar, auicddr 3R HRfedT (PCIR) I Bl ¢

Question Number : 189 Question Id : 9277597891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In how many stages does the iron toxicosis occurs?
Options :

1. %3

2.% 4

3.5

4, % 2

Question Number : 189 Question Id : 9277597891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e FaTega b =R & &t 22
Options :

1. %3
2.% 4
3.¢¥°5
4, %2

Question Number : 190 Question Id : 9277597892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sources of Methyl mercury can be
1. Dental amalgams

2. Poultry

3. Fish

4. Thermometers

Options :
1. ® Both 1 and 3
2. % Both3and 4



3. % Both2and 3
4, % Both 1 and 2

Question Number : 190 Question Id : 9277597892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fHUTTAIRSBA (Methyl mercury) & Hid H-T 8§ Tobd 82
1. § URGurd fhgm

2. gfitat

3. Il

4. ATqHTY

Options :

1. % 1 3R 3qHl

2. % 3 3R 4 GHN

3. ¢ 2 3R 33

4. % 1 3R 2 qH!

Question Number : 191 Question Id : 9277597893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the function of Connective tissues?
1. Contracts to produce active movement

2. Helps in storing energy

3. Provides structural support

Options :

1. # Both 1 and 2
2. % Both 2 and 3
3. % All1,2and 3
4. # Neither 1 nor 3

Question Number : 191 Question Id : 9277597893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TSIt B! BT FHfRyd T ¥ HH-I1 UHR gIdT 67
1. FichT T el DR o ford Tpferd g

2. Soll Ifad H § JgrIdl BT
3. AANTd AT UG HRAl
Options :

1. % 1 3R 2gH!
2. ¢ 2 3R 3 gl
3. % 1,2 3R 3 gut
4. % FA1783

Question Number : 192 Question Id : 9277597894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organs is/are part of Endocrine system?
a. Thymus

b. Rectus abdominis

c. Adrenals

Options :

1. % Only a

2. % Only b

3.9 Onlyc

4. % Alla,bandc

Question Number : 192 Question Id : 9277597894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ SH-a1/A 31, 3ia:Jrd) dF /P HIT 8/82
a. YIgHY

b. Ygc T UseITH-T

C.Q@W

Options :

1. % hdda



2. % BHad b
3.+ Hdd ¢
4. ® a,bﬁ?cﬂlﬂ

Question Number : 193 Question Id : 9277597895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cell structures modifies and packages proteins?
Options :

1. # Mitochondrion

2. % Golgi apparatus

3. % Ribosome

4. % Endoplasmic Reticulum

Question Number : 193 Question Id : 9277597895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PRI & & - IR TR, SR ) R 3R TR 3 2
Options :

1. % H@W@\U{(Mitochondrion)

2. ¢ TeSip T (Golgi apparatus)

3. % mﬂ(Ribosome)

4. % 3fagcl SIferehl (Endoplasmic Reticulum)

Question Number : 194 Question Id : 9277597896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cell structure is responsible for breaking down large organic compounds, damaged organelles and pathogens?
Options :

1. ¥ Lysosome

2. % Peroxisome



3. # Microvilli

4. % Ribosome

Question Number : 194 Question Id : 9277597896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FraRiTe 5 3 - ! SR, 53 ST A, aifire SRR 3R e 31 frefed 33 ¥ R SeRer et 2
Options :

1. v Fﬂ%?h?ﬁ'q (Lysosome)

2. % W(Peroxisome)

3. % AP (Microvilli)

4. % Q—E@h@ﬂ(Ribosome)

Question Number : 195 Question Id : 9277597897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Intracellular fluids are presentin _ volume of fluids in body.
Options :

1. 1/3

2. %12

3.% 1/4

4. % 2/3

Question Number : 195 Question Id : 9277597897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a PP R e, IR ARTugdfedr UM Rl
Options :

1.9 1/3

2. % 12

3.% 1/4



4. % 2/3

Question Number : 196 Question Id : 9277597898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true about the nucleotides?
Options :

1. ® Adenine binds with thymine and uracil

2. % Uracil binds with cytosine

3. # Thymine only binds with adenine

4. ® Cytosine and guanine can only bind with each other

Question Number : 196 Question Id : 9277597898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7{%@?@3 (nucleotides)%ﬁﬁmﬁﬁﬁ-m$quﬁ%?
Options :

1. % g, yrgHe 3R R F ey T B |

2. T, TZERIA I 31ae ST B

3. % YA PHad S F ey ST 5|

4. % AIZEIIH 3R T3 Had IRTUNS 3T &1 Tohd & |

Question Number : 197 Question Id : 9277597899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The functions of Fatty acids is/are

1. works as a thermal blanket

2. performs synthesis of hormones

3. supply carbon for synthesis of other compounds

Options :
1. ¥ Both 1 and 3
2. % Both 2 and 3



3.4 Both 1 and 2
4. % All1,2and 3

Question Number : 197 Question Id : 9277597899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g3l (el TRYS) B1/F S ufafed 3/
1. arfg dad P Hifd Srf BRd B

2. GTHII T YT B B

3. 3T D! o TATUT 3 BT T[T HRA & |
Options :

1. % 1 3R 3 Al

2. % 2 3R 3 Ml

3.9 1 3R 2 &Ml

4. % 1,2 3R 39

Question Number : 198 Question Id : 9277597900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a characteristic of Fomepizole, a treatment option for methanol toxicity?
Options :

1. ¥ Fairly cheap

2. # Easily dosed

3. # Does not cause inebriation

4. # TInhibits alcohol dehydrogenase

Question Number : 198 Question Id : 9277597900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT faTeRTar & o Ueh SURR fdshed BIHUSSI (Fomepizole) &1 fHafeiad & I -3t U faxiar 78t 82

Options :

| ¢ BB IR




2. % IRID &1 EH G|
3. % Algeh UG I ol Hdl|

4. % Tehigd fSeTsgiomy aifd erdr 8|

Question Number : 199 Question Id : 9277597901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is caused by the high dose of Toluene?
Options :

1. # Anesthetic effect

2. ¥ Anxiolytic effect

3. % Convulsant effect

4. # Narcotic effect

Question Number : 199 Question Id : 9277597901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafRad o ¥ ®1F-91 YUTd, TesH (Toluene) Pt I WRTH GRT I BIdT &7
Options :

1. % f39d® UUTT (Anesthetic effect)

2. ¢ GIYATERU UHTT (Anxiolytic effect)

3. #® PH-deRH YHIT (Convulsant effect)

4. % YD YHTT (Narcotic effect)

Question Number : 200 Question Id : 9277597902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Magnan's sign is associated with which of the following addictions?
Options :

1. % Alcohol

2. ® Marijuana



3. ¥ Cannabis
4. % Cocaine

Question Number : 200 Question Id : 9277597902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU T Yba (Magnan's sign), frafafea 7 3 forg @a 3 gefda g2
Options :

1. % TedI8Id (Alcohol)

2. % IﬂﬁTﬂGﬂ:ﬂ (Marijuana)

3. % Y (Cannabis)

4. ¥ Plp (Cocaine)



